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Question ID:- 181

Rearrange the parts in correct order to make meaningful sentence.

(a) together

(b) should go

(c) in a country like India,
(

d) growth and equitable distribution

(1) (a) (b) (c) (d)
(2) (b) (o) (d) (a)
(3) (o) (d) (b) (a)
(4 (d) (b) () (a)
Options:-

«1, Option ID :- 721,
« 2, Option ID :- 722,
« 3, Option ID :- 723,

= 4, Option ID :- 724,
Answer Given:- 1, Option ID :~721

Question ID:- 182

Rearrange the parts in correct order to make meaningful sentence.

(a) and related issues

(b) on poverty

(c) has done creditable work
(

d) well-known economist Amartya Sen

(1) (a) (b) (c) (d)
(2)  (b) (o) (d) (a)
(3)  (d) (o) (b) (a)
(4 (9)(d) (a) (b)
Options:-

«1, Option ID :- 725,
= 2, Option ID :- 726,
« 3, Option ID :- 727,
« 4, Option ID :- 728,
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Answer Given:- 3, Option ID : -727

Question ID:- 183

Change the following sentence from Active Voice to Passive Voice.
The milkman hit the dog with a stick.

(1) The dog has been hit with a stick by the milkman.

(2) The dog was hit with a stick by the milkman.

(3) The dog was hit by the milkman.

(4) A stick was used by the milkman to hit the dog.

Options:-

«1, Option ID :- 729,
« 2, Option ID :- 730,
=« 3, Option ID :- 731,

= 4, Option ID :- 732,
Answer Given:- 2, Option ID : -730

Question ID:- 184

Change the following sentence from Active Voice to Passive V.ice,

The university awarded him a post-graduate degree.

(1) A post-graduate degree has been awarded to him by the university.
2

(2) A post-graduate degree was awarded to him.
(3) He was awarded a post-graduate degree by“the.university.
(4)

4) He had been awarded a post-graduaterdéegree by the university.

Options:-

«1, Option ID :- 733,
« 2, Option ID :- 734,
« 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

Fill in the blank with correct preposition.

In his autobiography, the writer refers his early jobless years.
(1) of
(2) for
(3) towards
(4) to
Options:-

«1, Option ID :- 737,
« 2, Option ID :- 738,
« 3, Option ID :- 739,

= 4, Option ID :- 740,
Answer Given:- 3, Option ID : -739

Question ID:- 186




Fill in the blank with correct preposition.

Because of his shady past, the player has been disqualified competing in the tournament.
(1) with

(2) from
(3) of
(4) for

Options:-

«1, Option ID :- 741,
« 2, Option ID :- 742,
« 3, Option ID :- 743,

« 4, Option ID :- 744,
Answer Given:- 4, Option ID : -744

Question ID:- 187

Identify the correct tense form of the underlined part in the given sentence.
Have vou read Chanakya’s seminal work “Arthshastra” ?

(1) Past Perfect Tense

(2) Present Tense
(3) Present Perfect Tense
(4) DPast Tense

Options:-

«1, Option ID :- 745,
= 2, Option ID :- 746,
« 3, Option ID :- 747,

= 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

Identify the correct tense form of the underlined part in the given sentence.
In a few months” time, I shall have paid off all my debts.
(1) Simple Future

2)  Future Perfect Tense
5"

4 Past Perfect Tense

(
(3) Future Perfect Continuous Tense
(4)

Options:-

«1, Option ID :- 749,

= 2, Option ID :- 750,

« 3, Option ID :- 751,

« 4, Option ID :- 752,
Answer Given:- 3, Option ID : -751

Question ID:- 189




Identify the part which contains an error in the given sentence.
The teacher / asked me / where had I kept / my bag of books.

(1) (2) (3) (4)
Options:-
«1, Option ID :- 753,
« 2, Option ID :- 754,

« 3, Option ID :- 755,

« 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Question ID:- 190

Identify the part which contains an error in the given sentence.
The entire family / has migrated / to Africa, / isn’t it ?
(1) (2) (3) (4)
Options:-
«1, Option ID :- 757,
= 2, Option ID :- 758,

« 3, Option ID :- 759,

« 4, Option ID :- 760,
Answer Given:- 4, Option ID : -760

Question ID:- 191

Choose the word nearest in meaning to the givent word.
PALPABLE

(1) vague
(2) bright
(3) opaque
(4) clear
Options:-

=1, Option ID :- 761,
= 2, Option ID :- 762,
« 3, Option ID :- 763,

« 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

Choose the word nearest in meaning to the given word.
OBDURATE

(1) angry

(2) unbreakable

(3) stubborn

(4) smooth

Options:-




«1, Option ID :- 765,
« 2, Option ID :- 766,
« 3, Option ID :- 767,

= 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768

Question ID:- 193

Choose the word opposite in meaning to the given word.
ARCANE

(1) secret

(2) open
(3) transparent
(4) evasive

Options:-

«1, Option ID :- 769,
« 2, Option ID :- 770,
« 3, Option ID :- 771,

= 4, Option ID :- 772,
Answer Given:- 1, Option ID : -769
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Question ID:- 194

Choose the word opposite in meaning to the givetmnweotd.
BLURRED
(1) optimistic

(2) shining

(3) distinct

(4) grevish
Options:-

«1, Option ID :- 773,
« 2, Option ID :- 774,
=« 3, Option ID :- 775,

« 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774
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Question ID:- 195

Identify the Part of Speech of the underlined word.
To get adequate food and housing is our constitutional right.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 777,
« 2, Option ID :- 778,




=« 3, Option ID :- 779,

« 4, Option ID :- 780,
Answer Given:- 4, Option ID : -780

Subject : GH_Q16-Q30_TGTAE

Question ID:- 196

Frafafas iy # eAFgEs ufeu SR 39 4R W fau T uee 1 §ee W e :
e T gHdl o fed § o a9 ) WITHR F A Fad o o " 913996 S o R Stoem sifed
TR T 3 WY ot TH WeTs HTA AT | S SHR T H i 91 W T Ih T ° 71 Bl & 9 =iee | J
T oS o wisdl | arat 2d o R o o9 SER ¥ $9 9Hg € @ 2 1 o gl # Well ek 95T &6
HEYAN A1 =i |

frefafaa § wei &1 faar 7= o

(1) RITHR e ogr o &

(2) RIE TR H HI A off g6 39E Th H o awan =1
(3) I U FA E I A T HA =

(4) I % WY BH YIS € R AeY

Options:-

«1, Option ID :- 781,
« 2, Option ID :- 782,
« 3, Option ID :- 783,

« 4, Option ID :- 784,
Answer Given:- 3, Option ID : -783

Question ID:- 197

Trefafad iy &1 eagEs ufel Sfsds HR W fau T 39e =1 ¥ W S -
Wﬁ#{ﬂﬁ%%ﬂﬁaﬁmﬁ?}mﬁwaﬁéma@uﬁnmﬁﬁlmmmﬁeﬁma%awg
@1 2 35k Wy off 2H werd St =ien) S gHR v H i 9 WE 3HE T H 2 Fe & A TfEe ) 3=
gﬁa@mwﬁwaﬁmﬁwwﬁ@wﬁmmﬁwﬁnars‘aazaswmlf
HEYAN AT =1 |

e AEG A foh S gH s1fed o @1 @ 36k Wiy g Yol 1 ey #if
(1) e TR sl Fad 981 95 A7 9|

(2) e wers | favarg #=wd 9

(3) AR U TE F gHIfad o |

(4) e I g fashm o sqreen of |

Options:-

«1, Option ID :- 785,
« 2, Option ID :- 786,
« 3, Option ID :- 787,

= 4, Option ID :- 788,
Answer Given:- 1, Option ID : -785

rereg




Question ID:- 198

Trafafas iy # eAFgEsE ufey SR 39k 4R W fau T uee 1 §ele W S :

e TE gH o fed § @Rl @d 9 | TWIUsR 1 & Had a9 " 9 | 396 e o1 R SiEE sifed
B 2 3ok WY i TH WEE I e | S AR T H FI 91 WE IHE T H g1 o & A Jfee | F
o 9 oy wisgl | aral 29 o R o o0 SuR ¥ $9 9 € A 2 1 o gl # yell e 9 @6
HEYANT AT =1 |

Treafafad § wat &yE =8 © -

(1) e TUTRR 1 Ted 921/ 9Fd 91

(2) e HEEE 58 6 9

(3) AR wififes sEad o fatist o)

(4) FER G RIS ] YIS Tal AT |

=« 3, Option ID :- 791,

« 4, Option ID :- 792,
Answer Given:- 2, Option ID : -790

Question ID:- 199

Trefafad Ty # eAFyEsE ufey SR 39+ YR g fey T 399 1 Hilw W SIS
el T gEdl o fad d o wd 9 | Tash ] S Eed o2 9 "G 8 | S Fe o1 TR S gm Afed

T 9% o7 veal H Haredl 30 o el 30 OOR H 9 O W w8 T ol # 9o e 9HT #
HEAN FEAT =M |

{
FeR F STTER THA H GGIANT, H HAT AT ? (
(1) T=% g (
2)  TH I AH IR H
3)  TEU W YeIE Bk

(
(
(4) TEER H U Fh
Options:-

«1, Option ID :- 793,

« 2, Option ID :- 794,

« 3, Option ID :- 795,

« 4, Option ID :- 796,
Answer Given:- 3, Option ID : -795

Question ID:- 200

Options:- (1))
«1, Option ID :- 789, -
« 2, Option ID :- 790, -

T % T WY o B TelE O ey SR T H i o T S o v § o B & 9 e 3 ¢

rereg




Tr=fafea iy =1 @argEs afen ik 39F YR W R U 399 1 9% 3 S :

FaER =E g o fed J o WA 9 | IR 1 & ol 7S ¥H TG 2 |3 e o1 TR S e sfed w
T8 ST T oft 7 ool FeT At S euR T H Hie 9 w8 596 U 1 o %o & 9 =fwn ) 9
T a2 v vies] § Hared! o 9 5 e 59 TeR § 3o wwg @ @ B T ol & e #9999 &
HEUAN A1 =fe |

SR AT SRl A et ad 9 2

(1) HER TR ; Sia ST 8

(2) HIHT A HIAT MY

(3) B GERH 5O unE E w R

(4) HHF & AN GEUTER B FHE Ay

Options:-
=1, Option ID :- 797,

» 2, Option ID :- 798,
« 3, Option ID :- 799,

= 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799

Question ID:- 201

Freaferfas H safererae §a1 v 78 §
()
(2) <™
(3) T
(4) rFd

Options:-
«1, Option ID :- 801,

rereg

» 2, Option ID :- 802,
« 3, Option ID :- 803,

= 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question ID:- 202

‘1T | vTes o1 faramedt wTes €

(1) e

(2) wrifaeEs

(3) afaf=

(4) TUdA
Options:-

«1, Option ID :- 805,
« 2, Option ID :- 806,




= 3, Option ID :- 807,

« 4, Option ID :- 808,
Answer Given:- 4, Option ID : -808

Question ID:- 203

T’ e T T EETE! IS e ©

(1) =g
(2) wEY
(3) =4
(4) SEd
Options:-

«1, Option ID :- 809,
= 2, Option ID :- 810,
=« 3, Option ID :- 811,

« 4, Option ID :- 812,
Answer Given:- 4, Option ID : -812

[NV W .a

Question ID:- 204

o1 e =1 e #
(1) =T

(2) =T

(3) eHfarEd

(4) HelHl
Options:-

«1, Option ID :- 813,
« 2, Option ID :- 814,
=« 3, Option ID :- 815,

« 4, Option ID :- 816,
Answer Given:- 4, Option ID : -816

o~k

giprtime

Tf\lf\fi
rereg

Question ID:- 205

s |iY 1T e ®

Ti

Options:-

=1, Option ID :- 817,
= 2, Option ID :- 818,
« 3, Option ID :- 819,




= 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206

Freafafas & oEmees fagm 7= §
(1) fewms

(2) =H

(3) WHT

(4) W4

Options:-

«1, Option ID :- 821,
« 2, Option ID :- 822,
« 3, Option ID :- 823,

= 4, Option ID :- 824, (]_J
Answer Given:- 2, Option ID : -822 §—
. -
Question ID:- 207
| L o e
Trfafaa e Ji § aeqH-aeyd 1 34679 3 § ¢ (D)
(1) @WK - dl<h
(2) fogan - SY
(3) Ifeer - =
(4) @ Ll
Options:-
«1, Option ID :- 825,
« 2, Option ID :- 826, (D)
. 3, Option ID :- 827, ®
« 4, Option ID :- 828, (1))
Answer Given:- 1, Option ID : -825 l__

Question ID:- 208

fafafea § et v %

Options:-

=1, Option ID :- 829,
« 2, Option ID :- 830,
« 3, Option ID :- 831,

= 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832




Question ID:- 209

& 1 e AT TR 1w i

(1) Hfvsra | &H &AM

2) Hfewer A femg g

(3) ¥ W =ie fshem

(4) =g foa =
Options:-

«1, Option ID :- 833,
« 2, Option ID :- 834,
« 3, Option ID :- 835,

= 4, Option ID :- 836,
Answer Given:- 2, Option ID : -834

Question ID:- 210

Preffaa § s gfe A g v B
(1) =AEAH
(2) 34
(3) SUdd
(4) HmHA
Options:-

«1, Option ID :- 837,
« 2, Option ID :- 838,
=« 3, Option ID :- 839,

« 4, Option ID :- 840,
Answer Given:- 2, Option ID : -838

Subject : GKCA_Q31-Q50_TGTAE

Question ID:- 211

Consider the fo]]owing statements rega:ding the SamagTa Shiksha Scheme in India.

(a) Itis an integrated scheme for school education and covers the gamut from pre-school to
class X.

(b) It treats school education as a continuum.

(c) Support for early childhood care and education is one of the major interventions proposed
under this scheme.

Choose the correct answer from the codes given below :
(1) Only (a)

) Only (a) and (b)

) Only (b) and (¢)

) Only (a) and (c)

S =N pe ]

(
(
(

fry




Aed | H9y e A o ey H fefafead e 9 faar Fifsa )

(a) 4% Tpe faen % fou v wifera e § o) sad gd-foenera 9 e el X 9% 1 & wita B
(b) I8 THe foen &l UF Sae 9

(c) TH IS % ST IRIve Srearasn SEve i fren 3 o were <7 2g Reafies R = gra

T T
9 fou T FT F WE IR H =TI Fio |
(1) 9 (a)
(2) Ee (a) SR (b)
(3) = (b) &R ()
(4) T (a) 3R (c)
Options:-

«1, Option ID :- 841,
= 2, Option ID :- 842,
« 3, Option ID :- 843,

« 4, Option ID :- 844,
Answer Given:- 4, Option ID : -844

Question ID:- 212

The “Barbell Strategy’ coupled with an Agile appreach adopted by the Indian government for
making economic policies in response to the challenges of Covid-19 pandemic, works with how
many High Frequency Indicators (HFI) ?

(1) 20
(2) 50
(3) 80
(4) 100
:
ﬁﬁ@—wnmlﬂaﬁﬂ:ﬁﬁﬁf@ﬁqﬁ%gwﬁmﬂﬁﬁmﬁéxmwmmmﬂé‘méa?
gfteanion’ & w19 ‘aee T fRa I oTEdl Hehdehi (HFI) % 1o 318 %l § 2 H
(1) 20
(2) 50
(3) 80
(4) 100
Options:-

«1, Option ID :- 845,
« 2, Option ID :- 846,
= 3, Option ID :- 847,

« 4, Option ID :- 848,
Answer Given:- 4, Option ID : -848

Question ID:- 213

rereg




Consider the following statements :

(a) Indian Constitution abolishes ‘titles” as one of the many provisions guaranteeing the right to
equality.

(b)  The state can confer military and academic distinctions despite abolition of titles by the Indian
Constitution.

Choose the correct answer from the codes given below :

(1) (a) is wrong but (b) is correct

(2) (a) is correct but (b) is wrong

(3) Both (a) and (b) are correct

(4)

4)  Neither (a) nor (b) are correct

Frafafea Fai w faar =ifs)
(a) WA 1 Hfaa™ TuEa & IfasR # MHE wE yEYr & 9§ w1 ‘mﬁaﬁf’w(
Ad|

(b) A & WiGEH R UMY &1 3id frT STH & dmEsg T4, §=1 AR Afetsh F91F Y8H L Gahdl & |
9 fau T FE | wE IW F TH RS

(1) (a) 7Terd & foig (b) T

(2) (o) W& & oY (b) T @

(3) (a) 3R (b), EHI T &

(4) (a) 3R (b) EF1 H | F1E oft W& 7L 7
Options:-

«1, Option ID :- 849,
= 2, Option ID :- 850,
« 3, Option ID :- 851,

{
=« 4, Option ID :- 852, <B)
Answer Given:- 4, Option ID : -852 S el
(D)
Question ID:- 214 I__

Who developed the first successful vaccine in the world and for which disease ?
(1) Samuel Hopkins for Polio

Edward Jenner for Smallpox

(2)
(3) Louis Cooper for Tetanus
(4)

John Robbins for Mumps

faga o vecll awe Sad fora famfaa 1 oir =8 frg Im & fam off 2
(1) FgAa effe= = diferl & fag

(2) TUSHS SR A FHH & g

(3) TRH FR A 2™ & fay

(4) S UfeaH A Fige & fag




Options:-

«1, Option ID :- 853,
» 2, Option ID :- 854,
=« 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 4, Option ID : -856

Question ID:- 215

Consider the following statements regarding the Antarctica.

(a) The Antarctic continental region represents 90% of all terrestrial ice.
(b) Antarctica has a highly productive marine ecosystem.

(c) There are no marine mammals in the Antarctic marine ecosystem.
Choose the correct answer from the codes given below :

(1) only (a)

ek & Hay § fFfafed ol w famr Fifsm)

(a) TeEhfes HREIdg & T waeld oh % 90 WA T wiafTec war g
(b) TUThicsh W UH I= Icdich THa! IRYIE &)

(c) derhfew wyet mitgomett | i Wyt werardh ad @ €

i feu T e | wE 3T 1 =TI i
(1) 9 (a)

(2) I (a) ¥R (b)

(3) 9 (a) ¥R ()

(4) w®ad ()
Options:-

«1, Option ID :- 857,
« 2, Option ID :- 858,
« 3, Option ID :- 859,

=« 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860

Question ID:- 216

The model of transition adopted by East European countries marking a shift towards capitalist
economy, under the influence of World Bank and IMF after the disintegration of USSR was known
as

(1) ‘Reconstruction Bloom”

(2) “Shock Therapy’

(3) ‘The Third Way’

(4) ‘The New Economic World Order’




7 UH.TH.AR. F fogeT & 9¢ fava 9% iR iy ge1 ®9 & 99E % eiwia gt | < W
Ysitaral Aefeqesl Sl 3R S 8g YA ¢ YRITH Higel ot fohd a8 H S @1 ?

(1) T s’

(2) ‘i A’

3 ‘feggd’

(4) ‘fe = zHifHer aee wrey’

Options:-

«1, Option ID :- 861,
« 2, Option ID :- 862,
=« 3, Option ID :- 863,

=« 4, Option ID :- 864,
Answer Given:- 4, Option ID : -864

Question ID:- 217

'The Forest of Enchantments’ is a feminist retelling of which of the following epics ?
1) The Mahabharata
) The Ramayana
3) Abhijnanashakuntalam
)

Ramcharitmanas

(1) HeT9Rd
(2) THE
(3) MMM IMFH=ier™
(4) THERTHAH
Options:-

«1, Option ID :- 865,
« 2, Option ID :- 866,
« 3, Option ID :- 867,

= 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218




Consider the following statements regarding Scripps National Spelling Bee :

(a) The Scripps National Spelling Bee is being organized since 1925 in the USA.

(b) Itis a not-for profit initiative.

(c) Oxford Dictionary is the official dictionary of the Spelling Bee.
Choose the correct answer from the code given below :

(1) Only (a)

(2)

(3)  Only
(4)

‘T Jeme dfe &' % dey § frefafed i w faem #if
(a) 3919259 F.UHT, H il fohan o1 @12

(b) I TH 'Hie-wR Jifhe' wEa T

(c) Efc st & foru sieqhrs SIegael s nfusits s 8 |

|9 feu 7T¢ e § W& I A FHA S|
(1) 9 (a)
(2) HIA ()

(
(3) e (a) 3R (b)
(4) e (b) 3 (c)

Options:-

«1, Option ID :- 869,
= 2, Option ID :- 870,
« 3, Option ID :- 871,

« 4, Option ID :- 872,
Answer Given:- 4, Option ID : -872

Question ID:- 219

Which among the following countries have a Presidential form of government ?
(1) Indonesia

(2) Israel
(3) Japan
(4) Greece

Trefafeaa § 4 frg 2o o el (Tgafa) o= gomet & 2

(1) gSHfrEn
(2) TEA
(3) A
(4) ()

Options:-

()

D)

@
H-




«1, Option ID :- 873,
« 2, Option ID :- 874,
=« 3, Option ID :- 875,

« 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220

Consider the following statements about India’s nuclear policy :

(a) India has maintained a ‘no first use” policy till date.

(b) India’s nuclear policy is not based on the doctrine of minimum credible deterrence.
Choose the correct answer from the codes given below :

(1) (a) is correct but (b) is wrong

2

) (a) is wrong but (b) is correct
) Both (a) and (b) are correct and (b) follows (a)
)

Neither (a) nor (b) are correct

[S%]

(
(
(4

HRd i Teqr] Hifd o Hey § frafafed weEl w faar Fifsw
(a) WRE 9 I Fl TG 7% ‘A HE g9 A e gE 2
(b) RE i qeEmy Hifq =gan favar g framo wt ifa g snenfa 78 €1

e feu 7Y Fe F WE W A FI Fifow
(1) (a) W 2 Tohg (b) Terd 21
) (a) e © TR (b) TR B

(2 (a)
(3) () & (b), ST T B I (b), (a) PNETTER A1 |
(4) (a) 3R (b), 3 § | *IE gEA%] ¢

Options:-

«1, Option ID :- 877,

« 2, Option ID :- 878,

« 3, Option ID :- 879,

« 4, Option ID :- 880,
Answer Given:- 2, Option ID : -878

Question ID:- 221

Which of the following pairs of the artists with the Indian classical dance form performed by them
is incorrectly matched ?

(1) C.V. Chandrasekhar - Mohiniyattam
(2) Leela Samson - Bharatanatyam
(3) Sitara Devi - Kathak

(4) Raja Reddy - Kuchipudi




FHEAHRI SR 3T 5N YR RdE I T Sl arel frefataa 3@ § @ wA-9 39 #1928 faam
& for T 22

(1) el F=ey - wifed e

(2) e HHE - YgaeEd

(3) Toam <& - VED

(4) w1 - FETE
Options:-

«1, Option ID :- 881,
« 2, Option ID :- 882,
« 3, Option ID :- 883,

« 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 222 (

1c

Who among the following has been awarded a one-time ‘Sangeet Natak Akademi Amrit Award’
under Azadi ka Amrit Mahotsav (AKAM) in the field of puppetsy,? .

(1) K.M. Subbayya

(2) Oggari Ailaiah

(3) Veerasamy Srinivasan
(4) Jagdish Dhondiyal

Frefeafas § @ f6 Fegdel % G % 4 SIS #1 o weiee (AKAM) % siarid wheret ‘g
e STRTEH 7T QERR We foman e 2

(1) .. g

(2) SN SRR O

(3) SR SifrEr L

(4) T e I_(D
Options:-

«1, Option ID :- 885,
« 2, Option ID :- 886,
« 3, Option ID :- 887,

« 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

Which of the following is correct about Random Access Memory (RAM) ?

(1) Itisa non-volatile memory
(2) Itisaread only memory

(3) It stores data and Instructions during the execution of Instructions
(4) Storage in RAM is of permanent nature




=0 TEHIE HER ((RAM) & a) H fefafad 3§ 9 $A-91 |t ¢ 2
(1) I8 T TA-daeEed J69 ¢ |

(2) 8 U e et HERT R

(3) ¥% TRz  foared % SRIA ST SR SR F R Hd B
(4) RAM ¥ = Tt yia it et €1

Options:-

«1, Option ID :- 889,
= 2, Option ID :- 890,
« 3, Option ID :- 891,

« 4, Option ID :- 892,
Answer Given:- 1, Option ID : -889

Question ID:- 224

Which of the following countries got affected by “Bomb Cyclone” in December, 2022 ?
(1) Russia and China

(2) China and Japan
(3) USA and Canada
(4) USA and Argentina

Frafafaa § § #9-3 <9 fegmr, 2022 § ' geeaes’ 9 gefad g 92

(1) %9 i ==

(2) = ARSI

(3) AUHT, 3R FHAE

4 e rd: |

@ AT 5
Options:- _<]_)
«1, Option ID :- 893, (D
« 2, Option ID :- 894, H-

= 3, Option ID :- 895,

« 4, Option ID :- 896,
Answer Given:- 4, Option ID : -896

Question ID:- 225




Which of the following statement(s) is/are correct about Climate Change Performance Index (CCPI)
2023 ?

(a) Among the G-20 countries India, the United Kingdom, and Germany are among the high
performers in CCPI 2023

(b) Among the G-20 countries Canada, Russia, South Korea are worst - performing countries
(c) As in the previous years, Saudi Arabia remains the best - performing G-20 country
Choose the correct answer from the codes given below :

1) Only (a) and (b) are correct

Only (a) and (c) are correct

(TS I )

(
(2)
(3) Only (b) and (c) are correct
(4)

4) Only (c) is correct

FeATEHE = TWHEHE T (CCPI), 2023 F ar ¥ Frefafas § 9 #H-avd we w8 /8?2

(a) S-20 S¥i § § 9Ra, FAEes fHren oiw st CCPI, 2023 # 351 M-I e <9 €
(b) Sf-20 SO B | TS, B9, SE Fifen ey wvE w1 e e 5w g

(c) qSadl auf it o 2, T3 o/ $i1-20 <9 H we s - e wren Tv e

=9 feu T w2 H | v W gHT |

(1) ad (a) 3T (b) Tel 2 |

(2) *EA (a) &N () T T

(3) had (b) 3R (c) T ¥

(4) HaA (c) Tl T

Options:-

«1, Option ID :- 897,
« 2, Option ID :- 898,

{

« 3, Option ID :- 899, (

« 4, Option ID :- 900, _<

Answer Given:- 1, Option ID : -897 L
|

Question ID:- 226

What is the temperature range at the earth’s Moon Surface ?
(1) —25°C to 80°C

(2) —50°C to 50°C

(3) —100°C to 75°C

(4) —190°C to 110°C

rereg




qeat T FRA Tl Toe 9T q99H F 0 =1 E 2
(1) —25°C ¥ 80°C

(2) —50°C ¥ 50°C

(3) —100°C ¥ 75°C

(4) —190°C ¥ 110°C

Options:-

=1, Option ID :- 901,
» 2, Option ID :- 902,
« 3, Option ID :- 903,

« 4, Option ID :- 904,
Answer Given:- 4, Option ID : -904

Question ID:- 227

Loudness of sound is

(1) proportional to the square of the amplitude of the vibration producing the sound.

(2) Inversely proportional to the square of the amplitude of thé vibration producing the sound.’
(3) Proportional to the square root of the amplitude of the yibration producing the sound.

(4) Inversely proportional to the square root of the amplitude of the vibration producing the

sound.

Al & Jaerdl el g |

(1) =& 9= H a6l H9A o SAAH o & FHEI

(2) =& Beq= A Ald A ok SAE h G b Gl FER
(3) =Af S T ATl HUA & HAM - A h HHIEI

(4) =AF I HT AT HIA o S F A o giaerHd: FEEE

2

4

Options:-

«1, Option ID :- 905,
= 2, Option ID :- 906,
« 3, Option ID :- 907,

« 4, Option ID :- 908,
Answer Given:- 4, Option ID : -908

Question ID:- 228

0




Consider the following statements regarding Sushila Devi, one of the most outstanding players in
the discipline of Judo from India.

(a) She was awarded the Arjuna award in the year 2021

(b) She is the winner of Gold Medal in Commonwealth Judo Championship, 2019
(c) She is the winner of Gold Medal in Commonwealth Judo Championship, 2018
Choose the correct statement/s from the codes given below :

(1) Only (a) and (b)

2 ChﬂY(b)and(ﬂ
(3)  Only (a) and (c)
(4) Only (a)

ARA =1 U aiius Sahe el fgentedi § § uF gyl <af & a4 1§ Fefafad sy w faar #ife
(a) 3% a9 2021 F 2157 qOHR WeF o w7
(b) % UHea e AfzEfm, 2019 it w@ g fasw £

(c) e nzHee gei AfyFAfem, 2018 it w@oi ugw fawar &

=9 fou U %2 9 WE SW 5T Hifeg |
(1) e (a) 3R (b)

(2) had (b) R (o)

(3) e (a) 3R (c)

(4) O (a)
Options:-

=1, Option ID :- 909,
« 2, Option ID :- 910,
« 3, Option ID :- 911,

{
. 4, Option ID :- 912, (
Answer Given:- 4, Option ID : -912 _<

Question ID:- 229

Consider the following statements regarding the Sari Festival “VIRAASAT” held in India :
(a) The Ministry of Textiles organized this festival.
(b) The first phase of “VIRAASAT” was organized from 16" December 2022 to 30 December

2022,

(c) The second phase of “VIRAASAT” was organized from 16th January 2023 to 30 January
2023.

Choose the correct statement/s from the codes given below :

(1) Only (a)

(2) Only (a) and (b)

(3) Only (b) and (c)

(4) Onlv (a) and (c)
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IRE H A |1l 3cqd o’ (VIRAASAT) & 94 ° fefafes wee w fa=m #ifeg
(a) 39 IeHa F1 S a5 HoAerd 7 feran 4

(b) ‘Torred’ o UEe =N T ST 16 fewwaR, 2022 H 30 fe@wa, 2022 dek g T |

(c) ‘forrgd’ = TEL IO H1 AESHE 16 SR, 2023 § 30 SHa, 2023 T Tz 71|

=g feu 7T 2 A TE HAA H FIF BT |
(1) had (a)
(2) E (a) SN (b)

(3) had (b)

(b) SR (c)
(4) HIA (a) AR

C
(©)
Options:-

«1, Option ID :- 913,
= 2, Option ID :- 914,
« 3, Option ID :- 915,

« 4, Option ID :- 916,
Answer Given:- 4, Option ID : -916

Question ID:- 230

India’s first green hydrogen blending operation in PNG metwork has been started in which
township ?

(1) Borsad, Anand

2y  Kawas, Surat

3) Babra, Amreli

)

(
(¢
(4) Ambaji, Banaskatha

IRA H WA S Aedeh H Tgal aR i eEesH Mg ®1 fFH TR & § SRy fHa g2
(1) ERHEE, AT
(2) =EH, g«
(3) e, ST
(4)  SAFETSH, AATHHRIST
Options:-

«1, Option ID :- 917,
= 2, Option ID :- 918,
« 3, Option ID :- 919,

« 4, Option ID :- 920,
Answer Given:- 4, Option ID : -920

Subject : RA _Q51-Q70_TGTAE

Question ID:- 231

rereg




Choose the missing letter cluster in a given series that follows the same logic.
ANT, BPR, , GIN, KVL, PX]

(1) CQSs
(2) DSM
(3) DRP
(4) CSM

e € TE SjEen § g9 SR WIE 1 99 Hite Y W 98 9% A gl § 2
ANT, BPR, ___, GIN, KVL, PX]

(1) CQS
(2) DSM
(3) DRP
(4 CSM
®
Options:- -

«1, Option ID :- 921,
« 2, Option ID :- 922,
« 3, Option ID :- 923,

= 4, Option ID :- 924,
Answer Given:- 1, Option ID : -921

Question ID:- 232

M, N, O, P and Q are married to A, B, C, D afid\E (not necessarily in the same order). ‘B’ is neither
married to ‘N’ nor '0’. ‘N’ and ‘Q’ arediof married to ‘A’ and ‘C". ‘M’ and ‘O’ are not married to .| .
‘C','D" and ‘E’. P’ and ‘Q’ are not married to ‘B" and ‘E". Who is married to ‘B’ ?

(1) M
(2 P o
3 Q
4 N P
@
H-

M,N,O,P3iRQ = faam® A, B, C, D 3R E (351 9 | =&1) ¥ &1 & 1B’ o faame 91 ‘N’ 9 811 & &
O TN SR 'Q il faam ‘A’ 3R 'C’ T 781 81 | ‘M 3RO’ &1 faame ¢, ‘D’ 3R ‘B’ ¥ =&
F1P @R Q i faame ‘B #iRE O 7€ da1 €1 B 1 foame frod gen ® 2

() M
(2 P
(3 Q
(4 N
Options:-

«1, Option ID :- 925,
= 2, Option ID :- 926,
« 3, Option ID :- 927,

« 4, Option ID :- 928,
Answer Given:- 1, Option ID : -925




Question ID:- 233

The question below has a statement followed by two courses of action numbered (I) and (II). If it
is assumed that everything in a statement is true, then decide which of two given courses of action
logically follows for pursuing.

Statement : Maximum cases of harassment at workplaces are not reported.

Courses of Action: (I) Regular audit of reports of the committee against harassment at
workplace should be made compulsory.

(II) The committee against harassment at workplace should take
feedback from all the employees on working environment at

workplace.
(1)  Only (I) follows
(2) Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows

e

= U weyA e T € o s A 1 wiEEdl (1) i (1) & €1 Afe 7w me fam s i wee i g
a1 He § 1 ge foim Fifere fok ST Fiaredl § | wm | wilar afhe w9 9 31 5 gt 3E 2

HUA:  HEAE W Idied & stfesmie ume o T8 A gy
HarE: (1) e 9 Sdte ged) afafq i e et vy 9 de-ade w5 afrem
ST =T |
(1) S R S Hes SRR FeE W S e 5 A & A § g

= | wigss o Jetl
(1) & (I) St S Gehell ©
(2) Had (II) it ST Gehdll &
(3) (1) 3R (1) S S EEE
(4) i B A A o T T E g
Options:- <D
«1, Option ID :- 929, -

= 2, Option ID :- 930,
« 3, Option ID :- 931,

« 4, Option ID :- 932,
Answer Given:- 3, Option ID : -931

Question ID:- 234

Mohit purchases five winter wears sweater, muffler, shoes, jacket and gloves from the shop. Sweater
is expensive than muffler. Jacket is expensive than sweater but cheaper than shoes. Shoes are
expensive than muffler. Muffler is cheaper than Jacket. Gloves are the cheapest. What is the most
expensive item out of these five ?

(1) Shoes
(2) Jacket
(3) Sweater
(4) Muffler




Hifed 9 Ush g H HE1 1 U89 a1l 5 9%qU W@, Her, Sd, Siehe SR S5 Ele | W, Ao ¥ He
21 STRe, e A HE ¢ fohg Sl @ I € 1 S, Ao @ HE € | "R, Siehe ¥ HE ¥ | S 99 g5
T 157 uiel el o el mE g FnE?

() 9
(2) Hhe
(3) T
(4) FER
Options:-

«1, Option ID :- 933,
« 2, Option ID :- 934,
« 3, Option ID :- 935,

= 4, Option ID :- 936, (
Answer Given:- 1, Option ID : -933

1c

Question ID:- 235

If P is Qs son and Q and M are sisters. S is M's mother and.T%s son of S, then how is T related
toP?

(1) Maternal Uncle
(2) Paternal Uncle
(3) Cousin

(4

27

(1) HH
(2) =N
(3) HHU WE
(4) foa
Options:-

«1, Option ID :- 937,
= 2, Option ID :- 938,
« 3, Option ID :- 939,

= 4, Option ID :- 940,
Answer Given:- 3, Option ID : -939

Question ID:- 236




If North becomes North West and South becomes South East and all the rest directions are changed
in the same manner, what will be the direction for the East ?

(1) North

(2) North East
(3) South West
(4) West

Ife 3T =1 A9 HH TR S w1 Sfro-gE A qen o 9 feened i s aden | agen Sl gE
% fere = =i feen wr st 2

() =X

(2) -

(3) <fero-qfy=m

(4 = ®
Options:- -

«1, Option ID :- 941,
= 2, Option ID :- 942,
« 3, Option ID :- 943,

« 4, Option ID :- 944,
Answer Given:- 3, Option ID : -943

Question ID:- 237

Five students for youth festivals have ta be chosen from five boys K, L, M, N and O, and four girls | -
P, Q, R, and S, on the following conditions :

(i) KandS has to be together
(ii) M and O cannot be separated

(iii) N and Q cannot go together EB)
(iv) R is not comfortable with P and L —=
If P and atleast any two girls are selected then who are the students chosen for youth festival ? ©
(1) QRMO M
(2) QSKL

(3) RSML

(4) QSMN




79 Tfead % fau 949 @18hi K, L, M, N 3R O 991 91 @Al P, Q, R, 3RS H ¥ 5 BHE| &1 A9
frefafes sl w fFm s e

(i) ‘K RS uF 9y gH =t

(i) M 3RO’ T T &l R S Hehell &

(iii) ‘N’ R ‘Q @y =& g =ife

(iv) ‘R, ‘P’ 3L’ %F 919 g9 T&1 &

AfE P &R 1 G FHY 3 F AR &1 g R S ® @ 99 Sieaw % fau fFe sE @ gaa
T

(1) QRMO
(2) QSKL
(3) RSML
(4) QSMN
Options:- (

«1, Option ID :- 945,
« 2, Option ID :- 946,
= 3, Option ID :- 947,

« 4, Option ID :- 948,
Answer Given:- 2, Option ID : -946

Question ID:- 238

In a certain code language "WILLAM' is written/as. " YLNOCP’ then how will ‘'FLOWER’ be written
in that language ?

(1) HOQZGU

(2) IORZHU

(3) HOLRIV

(4 IOTYJU (
K

Ife TF Fe 9§ ‘WILLAM &l 'YLNOCP' % &9 ¥ feran sirar @ 91 fh ‘FLOWER’ %l 36t Wﬁ‘m'_(

Yo et e ?

(1) HOQZGU
(2) IORZHU
(3) HOLRIV
(4) 10TYJU
Options:-

«1, Option ID :- 949,
« 2, Option ID :- 950,
« 3, Option ID :- 951,

» 4, Option ID :- 952,
Answer Given:- 1, Option ID : -949

Question ID:- 239

1c




From the given alternatives select the word which cannot be formed using the letters of the given
word.

QUESTIONABLE
(1) NOBLE

(2) STAIN

(3) STONE

(4) NATION

= feu U fawedi °§ 9 39 e =1 =994 Sita a9 f5u 70 vreg & 29830 =61 WA SR Rl 9= S e
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QUESTIONABLE

(1) NOBLE

(2) STAIN

(3) STONE

(4) NATION
Options:-

«1, Option ID :- 953,
« 2, Option ID :- 954,
« 3, Option ID :- 955,

« 4, Option ID :- 956,
Answer Given:- 1, Option ID : -953

Question ID:- 240

A question is followed by two statements*(I) and (II), each containing some information. Decide
which of the statement is/are sfficient'to answer the question.

Among the five curtains P, R).S and T of different lengths, which is the second longest ?
(I) T is longer than S but' Qs smaller than S.
(II) R is longer than T and P is the smallest.

(1) The statement (I) alone is sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question.

(3) Both the statements (I) and (II) together are necessary to answer the question.

(4) Both the statements (I) and (II) together are not sufficient to answer the question.




T A fea o 5 A &1 e - (1) iR (1) feu € o @ uee | g Smert & i @)1 Fofa
FIFSU for & GY8 F99 97 %1 I 29 & foe v 878 2

fafsr= @eE & = WSl P, Q, R, S iR T H T5) Wad &al Ul s 41 § 2
(1) “T",'s | &= ¢ fohg ‘'Q, ‘s’ | 911 7

(1) ‘R, ‘T’ ¥ & g fhg ‘P 998 91 2

(1) HeA-(I), 2Tt ¥99 1 ST o4 & fod 97T ©

(2) FHEA-(II), STF T H IW < & o 7ot §

(3) HFA-(I) 3T (I1) Bl THAY T FT I &1 6 A0 ETF ©
(4) HweF-(1) 31 (11) S UHEY Y9 1 ST 7 & fere gary A §

Options:-

«1, Option ID :- 957,
» 2, Option ID :- 958,
« 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 4, Option ID : -960

Question ID:- 241

Two statements are given below and they are labelled as\Assertion (A) and Reason (R).

Assertion (A) : Petrol catches fire very easily.

Reason (R) : Petrol does not dissolve in water.

Select correct answer with the help of code.

(1) Both (A) and (R) are true and (R)/s correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) (A) is false but (R) is true :
g

A 2 o e T § s o aifirmer (A) SRRk (R) A fen T |_<

feRe (A) :  TEIE S AT AT UHE O B |

e (R) : Y2re wrt | e Te % |

== e T e =R werdr § W I g0 ;

(1) (A) =R (R) 2 el § 37 (R), (A) 1 el =70 &

(2) (A) #R(R) 3T ®El § T (R), (A) =1 & =20 e ©

(3) (A) T T AN (R) T §

(4) (A)7Terd § S (R) WET ®

Options:-

«1, Option ID :- 961,

= 2, Option ID :- 962,

« 3, Option ID :- 963,

« 4, Option ID :- 964,

rereg




Answer Given:- 2, Option ID : -962

Question ID:- 242

Six experts P, M, R, S, T and K are sitting along the hexagonal table facing towards the centre for
a discussion. M is sitting between K and R. P is sitting between T and S and K is to the left of S. Who
is sitting diagonally opposite to T ?

1) M
2) P
(3 K
4) S

T fo9ma P, M, R, S, T 3R K 51901 % foiu, s wey[sehr 7S] & =R 0% Sk g =i 3 48 &l 93 & |
MY, K dE R % ST S8 B P, T |91 ‘S % S el ® iKY, ‘S o et SR SeT B 1 T % faeia:
HHA A §31 8 7

M ™ ®
2 P —
3) K
4 S

Options:-

«1, Option ID :- 965,
« 2, Option ID :- 966,

« 3, Option ID :- 967,

« 4, Option ID :- 968,
Answer Given:- 1, Option ID : -965

Question ID:- 243 ﬂ@

Three statements are followed, by two conclusions, numbered (I) and (II). Find out which (D)

conclusion(s) is/are true based on the given statements. D)

Statement : 1. A<B -1
2. C=A I_q_J
3. B=zE

Conclusions : (I) B>C
(II) A>E

(1) Only (I) is true

(2) Only (H) is true

(3) Both (I) and (II) are true

(4) Neither (I) nor (H) is true




7 = fou o € SR 3 =g <1 feed - (1) &R (1) few e @ ) aar @ fF feu e el 6 saR W
F =Y ey wd 2

HIT : 1. A<B
2. C<A
3. B2E

Frere () B>C
(I) A>E

(1) e (I) 981 §

(2) e (I) W1 &

(3) (1) 3 (11) S T&t €

(4) S| FHE off wel Tl ®

Options:-

«1, Option ID :- 969,
« 2, Option ID :- 970,
=« 3, Option ID :- 971,

« 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

Question ID:- 244

If “AB means “B is sister of A’,

"A#B’ means ‘A is mother of B" and

‘A$B’ means ‘A is husband of B,

Then how is ‘S’ related to ‘P’ in the given/statement PSQ#RIS :

(1) Son

(2) Daughter
(3) Sister

(4) Brother

TAIAN L] 1 N
Felegram—t-mefpgtprime

g AQB T A 8 fF B, A’ S Fe1 &, ‘A#B I A s fF ‘A7, ‘B it AT & SiASE 1 31 § fam /A,
‘B’ &1 Ufd & ot feu 7Tu eq PSQ#R@S H ‘'S &1 ‘P’ H #1 Hey & 2

1 9=

(2) g
(3) A
4) WE
Options:-

«1, Option ID :- 973,
= 2, Option ID :- 974,
= 3, Option ID :- 975,

= 4, Option ID :- 976,
Answer Given:- 1, Option ID : -973




Question ID:- 245

A Programme is designed with seven courses A, B, C, D, E, F and G. These courses are offered
with certain conditions. Course ‘A’ has to be studied just after course ‘C’. One course should be
studied between courses ‘D’ and ‘C’ in the same order. The course ‘E’ has to be studied before
course ‘D" but not just before. The course ‘A’ should be studied at sixth place. The course ‘F* has to
be studied at second place. The course ‘G" has to be studied at the end.

Which course has to be studied at the first place ?
il
2

h—

4

HOO®

WG WAl A, B, C, D, E, F 3R G % H19 Tk Srishd qaR fomen 20 ¥ 1 3 ureashe & vt & e e feen
S § 1 YA’ GISTERE T ‘CY YISERY o Tk 9 9IS Yerdl 1§ | SE s H D’ UiedsH 3R O UeTsH &
e T WIS R ST R | E WIS F D T 8 Tee g U <0 veet T ver e ) ¢

1c

'Aﬁmmwvﬁ%%FWVHWWWWW%rFmamma#@ﬁFWVHW@mﬂW%rcﬁmﬂﬁuﬁnm@aq
T UeHT § | U8e T W HT TISashH w1 UL Sl § ?

(1) B
2 G
(3) D
4 E
Options:-

«1, Option ID :- 977,
« 2, Option ID :- 978,
« 3, Option ID :- 979,

« 4, Option ID :- 980,
Answer Given:- 4, Option ID:: -980

Question ID:- 246

¢
(
K
H

A group of alphabet is given with each letter being assigned a number. Select the combination of
numbers so that the letters arranged accordingly will form a meaningful word.

ORLSA

12345

(1) 24135
(2) 41352
(3) 31254
(4) 51243




== guil =1 T e fom T © foH | ues avi & fag we sies fuifea foman =0 2 | 39 e 99 &
A IS difeh 36k ST{ER Hafeer feru T vl 5 U |iele e S 5 Heh

ORLSA
12345

(1) 24135
(2) 41352
(3) 31254
(4) 51243
Options:-

«1, Option ID :- 981,
« 2, Option ID :- 982,
« 3, Option ID :- 983,

« 4, Option ID :- 984,
Answer Given:- 4, Option ID : -984

1c

Question ID:- 247

Two statements are given, followed by two conclusions numbered (I).and (IT). You have to assume
the statements to be true even if they seem to be at variance from commonly known facts then
decide which of the given conclusion(s) logically follow(s) ffom the two given statements.

Statements :  All roses are lily.
All jasmines are lily.
Conclusions : (I) Some roses are jasmine.
(IT) Some lilies are roses.

(1) Only conclusion (I) follows
(2) Only conclusion (II) follows
(3) Neither (I) nor (II) follows
(4) Both (I) and (II) follow

{

K
1 2 o fou e ¥ fowss A &1 fswd - (1) o (1) faw e § 1 ey =g A T faw s e €
e 21 T | e e e B e e B W e e 2 e D 1 = T e 1 210 e B 7 e e
A frery feperar fsea €2

rereg

HIT ; it e, foet €1
[t =, ot 21

et () Fo ToE =6t 2
(1 e fact e €

(1) Faa fd (1) Frepern &

(2) e e (1) Freperan &

(3) Foemd — (1) sreren e - (11) & | 18 = Frereran €
(4) Taemd - (1) &R (1) 347 e E

Options:-
«1, Option ID :- 985,




= 2, Option ID :- 986,
« 3, Option ID :- 987,

= 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

If in a certain code language ‘Gun and Roses’ is written as “ABC’ and ‘Roses and Water” is written
as ‘CAD’" and “Water and Gun’ is written as ‘DCB’ then what is the code for ‘Roses’ in this

language ?
1 A
(2) B
(3 C
(4 D

Ife ot F2 9 H ‘Gun and Roses’ 1 ‘ABC’ % 9 H foral Sl @ 31X ‘Roses and Water’ &1 ‘CAD’ (
% ®Y H 41 “Water and Gun’ &l “DCB % &9 H o St & @1 39 911 H ‘Roses’ o ol &1 F2 & 7

1c

1) A
(2) B
(3) C
(4 D
Options:-

«1, Option ID :- 989,
= 2, Option ID :- 990,
« 3, Option ID :- 991,

« 4, Option ID :- 992,
Answer Given:- 1, Option ID : -989

)
Question ID:- 249 (D
In the following question two positions of a same dice are given. Find the number of dots at the (])
face opposite to the face having one dot ? |._
o ©)
0 ° o
o} o
o O o
O
0] o o
o @)
() 4
2) 5
(3) 6
(4) 2




Frefafad v § we o & & ffaar & € ¥ 1w fog a9 wow & faadia et wers W fage
e F iy ?

o 0o @)

o) O
(o] o
0 O & o]
o] o O
(o) O
(1) 4
(2 35
(3) 6
4) 2
Options:-

«1, Option ID :- 993,

e

« 2, Option ID :- 994,
« 3, Option ID :- 995,

« 4, Option ID :- 996,
Answer Given:- 4, Option ID : -996

Question ID:- 250

rereg




Select the Venn Diagram that best represents the relationship between the following set of classes.
Hindi, English, Languages

rereg
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Options:-

«1, Option ID :- 997,
« 2, Option ID :- 998,
= 3, Option ID :- 999,

= 4, Option ID :- 1000,
Answer Given:- 2, Option ID : -998

Subject : CL_Q71-Q80_TGTAE
Question ID:- 251

In computer terminology, Mbps is one of the popular units of :
(1) Video quality
(2) Printer speed
(3) Internet speed
(4)

4) Image resolution




FHP2 Fi YEaEe! H, Mbps

(1) difed s
(2) Toex =1 e
() ¥ T
(4) ¥ Tt
Options:-

«1, Option ID :- 1001,
« 2, Option ID :- 1002,
« 3, Option ID :- 1003,

« 4, Option ID :- 1004,
Answer Given:- 4, Option ID : -1004

% St AR § Y

Question ID:- 252

In computers, Al stands for :
(1) Abstract Internet

(2) Abstract Intellect

(3) Artificial Interface

(4) Artificial Intelligence

FETH, ALH P a4 §2

(1) Abstract Internet

(2) Abstract Intellect

(3) Artificial Interface
(4) Artificial Intelligence

Options:-

«1, Option ID :- 1005,
« 2, Option ID :- 1006,
« 3, Option ID :- 1007,

= 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253

Which of the fo]lowing software is generally used to design an audio-video multimedia

presentation ?

(I) Microsoft Edge
(2) Microsoft Excel
(3) Microsoft Access
(4)

4 Microsoft PowerPoint




fordt aiffedi-difed aedidifen wegfa &1 sm & smadr W Frefafea § 9 frg giwas & w4
SRS ?

(1) HEhEE TS

(2) HEHEER T

(3) HEHIETR THH

(4) HEHEGR GeEEe
Options:-

«1, Option ID :- 1009,
« 2, Option ID :- 1010,
« 3, Option ID :- 1011,

« 4, Option ID :- 1012,
Answer Given:- 4, Option ID : -1012

Question ID:- 254

Google Chrome, Microsoft Edge and Mozilla Firefox are popular examples of :
(1) RDBMS

2 Web Browsers

(2)
(3) Search Engines
(4)

4 Programming Languages

e I, ARG Us 2R Hifee e fhae g 386 & 2
(1) SIRSHETHTE (RDBMS)

(2) EERCIETES (Web Browsers)

(3) TH 5 (Search Engines)

(4) 9ENTHT &S (Prografiming Languages)

2

Options:-

=1, Option ID :- 1013,
« 2, Option ID :- 1014,
« 3, Option ID :- 1015,

« 4, Option ID :- 1016,
Answer Given:- 1, Option ID : -1013

Question ID:- 255

To cut some selected text from one place of a MS Word document and paste the same at some
other place in the same document, the most popular combination of short cut is :

(1) Alt+x& Alt+v
(2) Alt+c&Alt+v
(3) Cirl+c&Ctrl+v
(4) Col+x&Ctrl+v




Tordt wHUw 92 STghe % U6 WH 9 $9 o Y Y TR 1 e (cut) W AR 39 34 iR |
Topell 2771 T W U2 (paste) T & ol Ha8eE Tepiyd T e HA6H ©

(1) Alt+x& Alt+v

2) Alt+c&Ale+v

3) Ctrl+c & Ctrl+ v

) Crl+x & Chrl +v

[$%)

(
(&
(4
Options:-

«1, Option ID :- 1017,
= 2, Option ID :- 1018,
« 3, Option ID :- 1019,

=« 4, Option ID :- 1020,
Answer Given:- 3, Option ID : -1019

Question ID:- 256

Which of the following is the least threat of source of viruses entering your computer system ?
(1) A scanner

(2) A pendrive

(3) An e-mail attachment

(4)

4)  The computer network

Frfafed § | e wroge faen § 9y o @ g feg mem & vl & € 2

(1) T

(2 T EES

(3) T-Ha ITTH

(4) R FTES
Options:-

=1, Option ID :- 1021,

= 2, Option ID :- 1022,
« 3, Option ID :- 1023,

« 4, Option ID :- 1024,
Answer Given:- 3, Option ID : -1023

Question ID:- 257

Which of the fo]]owing is not a standard file extension of a music file ?

(1) .wma
(2) .mp3

(3) .wav

(4) .pdf




frafafed § | #1991 tF =i wEd % 9HE Wed FER (file extension) TEl & ?

(1) .wma

(2) .mp3

(3) .wav

(4) .pdf
Options:-

«1, Option ID :- 1025,
« 2, Option ID :- 1026,
=« 3, Option ID :- 1027,

=« 4, Option ID :- 1028,
Answer Given:- 1, Option ID : -1025

Question ID:- 258

Which of the following software is not popular as Audio Editing Software ?

(1) Audacity

(2) AutoCAD

(3) Adobe Audition
(4) FL Studio

Frafafeg § 9 =9 @ giea® sifed wifdn giweaal # & 4 sifus amsig 78 &2
(1)  Audacity

2)  AutoCAD

3

(

(3) Adobe Audition
(4) FL Studio
Options:-

«1, Option ID :- 1029,
« 2, Option ID :- 1030,
« 3, Option ID :- 1031,

« 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Question ID:- 259

To make our password a stronger one, which of the following suggestion, we must not follow :

(1) Should be a dictionary word or a proper name

(2) Significantly different from our previous passwords
(3) Shouldn’t contain a phone number or important date
(4

A combination of uppercase letters, lowercase letters, numeric digits, and symbols




S IEEE 1 e 99H o fad &6 frefafad | 9 9 ggma &t 761 /e 9ien ?
(1) o8 Uk UsCEdl 61 98 HYe] Teh 9 A & |

(2) BHR gaad qeEel ¥ fawga fa= @

(3) SEH g HH TR A HEYUl dRE e 7 8 |

(4) O STHH U, GeHT Fui, Hemedi AR fagi (fead) =1 Hdmm & |

2

Options:-

«1, Option ID :- 1033,
« 2, Option ID :- 1034,
« 3, Option ID :- 1035,

« 4, Option ID :- 1036,
Answer Given:- 4, Option ID : -1036

Question ID:- 260

In web protocol terminology, https stands for :
(1) Hypertext Transfer Protocol Secure
(2) Hypertext Transfer Protocol System
(3) Hypertext Transfer Protocol Services
(4)

4) Hypertext Transfer Protocol Structure

9 VT YRR §, https B A9 ¥ ;

(1) Hypertext Transfer Protocol Secure
(2) Hypertext Transfer Protocol System
(3) Hypertext Transfer Protocol Services
(4) Hypertext Transfer Protocol-Strueture
Options:-

«1, Option ID :- 1037,

« 2, Option ID :- 1038,

« 3, Option ID :- 1039,

= 4, Option ID :- 1040,
Answer Given:- 3, Option ID : -1039

Subject : AE_Q81-Q180_TGTAE
Question ID:- 261

Which of following is not part of Indus ?

4

(1) Ropar
(2) Lothal
(3) Kalighat
(4)

Kali Bangan




Frrafafes o § @ favy = feom 76 &

(1) 9g

(2) e

(3) HIEiER

(4) RIS
Options:-

=1, Option ID :- 1041,
= 2, Option ID :- 1042,
=« 3, Option ID :- 1043,

« 4, Option ID :- 1044,
Answer Given:- 3, Option ID : -1043

Question ID:- 262

Which of the following stupa was built by Satavahna rulers ?

(1) Sanchi

(2) Amaravati
(3) Bharahuta
(4) Bodhgaya

Frefafed & & graes e gm it T =9 15 e

(1) ==t

(2) TS

(3) WIgd

(4) ST
Options:-

=1, Option ID :- 1045,

« 2, Option ID :- 1046,
« 3, Option ID :- 1047,

= 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

Mother Goddess found in Mohenjodaro is made of :
(1) Wood

(2) Copper
(3) Stone
(4

Terracotta




(1) g

(2)  STI/ATE

(3) T

(4) R
Options:-

=1, Option ID :- 1049,
« 2, Option ID :- 1050,
=« 3, Option ID :- 1051,

« 4, Option ID :- 1052,
Answer Given:- 3, Option ID : -1051

Question ID:- 264

The seals found and Indus valley are made of :
(1) Lime stone
) Brass Metal
) Sand Stone
)

S e ]

4 Steatite

(
(
(

feiEet & e et Fafa 2
(1) o7 TR

(2) e o

(3) SR Terrk

(4) wWIwE

Options:-

=1, Option ID :- 1053,
« 2, Option ID :- 1054,

« 3, Option ID :- 1055,

= 4, Option ID :- 1056,
Answer Given:- 3, Option ID : -1055

Question ID:- 265

The process of making the metal dancing girl found at Indus civilization site is called :
(1) Dhokra casting

Sand cas ting

SR

(2)
(3) Embossing
(4)

fry

Lost wax cash'ng




Feee & T T T S W o

(1) =R HIfET

(2) SIS I

(3) TERRIEM

(4) TR 9o HIfEE
Options:-

«1, Option ID :- 1057,
« 2, Option ID :- 1058,
« 3, Option ID :- 1059,

« 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question ID:- 266

Which of the following Indus Valley civilization site is located in Gujarat ?
(1) Rakhigarhi

Harappa

S e ]

4 Lothal

(2)
(3) Kalibangan
(4)

Frefafea § 3 foryer! a=m it 9 e TeRd §.EehE 2

(1) TEEl
(2) =
(3) HIEAEM
(4) ©gA
Options:-

=1, Option ID :- 1061,

= 2, Option ID :- 1062,
« 3, Option ID :- 1063,

« 4, Option ID :- 1064,
Answer Given:- 4, Option ID : -1064

Question ID:- 267

Name the Indus Valley site in Rajasthan.

(1) Lothal

(2) Dholavira
(3) Kalibangan
(4)

4) Harappa




TreTey H feorg faryand e s M §

(1) e
(2) e
(3) =hlefra
(4) ®EH
Options:-

«1, Option ID :- 1065,
« 2, Option ID :- 1066,
=« 3, Option ID :- 1067,

« 4, Option ID :- 1068,
Answer Given:- 2, Option ID : -1066

Question ID:- 268

On the seals of Indus civilization we find the inscription of :

(1) Birds
(2) Tiger
(3) Snake
(4) Script

T gvga & Hel W aE &+ ¥ ¢

(1) &
(2) TFR
(3) w4
(4) fafu
Options:-

=1, Option ID :- 1069,
« 2, Option ID :- 1070,

=« 3, Option ID :- 1071,

= 4, Option ID :- 1072,
Answer Given:- 4, Option ID : -1072

Question ID:- 269

The mother Goddess figurine found at Mohenjodaro is made of :
(I) Terracotta

(2) Bronze
(3) Wood
(4)

4 Stone




TTeq Sigel § 9 &dt syhfaan ffda ¥ -

(1)  2Xrehiel (Jured)
(2) =
(3) Rl
(4) T
Options:-

«1, Option ID :- 1073,
= 2, Option ID :- 1074,
« 3, Option ID :- 1075,

« 4, Option ID :- 1076,
Answer Given:- 1, Option ID : -1073

Question ID:- 270

The Male Torso found at Harrapan site is :
(1) Monumental in size
Life size

S e ]

(
(
(4

)
) Miniature size
) Larger than life size

ST Y YH TEY 9IS HT SAFR § ¢

(1) Termer=rm

(2) W WIS (Sfe =i, )
(3) WY AR

(4) SiE-=RE HR H off 92
Options:-

=1, Option ID :- 1077,
« 2, Option ID :- 1078,
« 3, Option ID :- 1079,

= 4, Option ID :- 1080,
Answer Given:- 4, Option ID : -1080

Question ID:- 271

The Male Torso from Harappan site is highly :
(1) Stylised

) Abstract

) Schematic

) Realistic

SR

(
(
(

fry




TSWT 9 I J5Y Y i WEA €

(1) Hefrm
(2 o

(3) HERE
(4) arEifaes
Options:-

=1, Option ID :- 1081,
« 2, Option ID :- 1082,
« 3, Option ID :- 1083,

=« 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272

Pottery shown in this picture is from which civilization ?

(1) Egypt
(2) Mesopotemia
(3) China

(4) Indus Valley

LS

TI'\II'\“ L] “+
Felegram—t-mefpgt
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Options:-
«1, Option ID :- 1085,

« 2, Option ID :- 1086, Q

» 3, Option ID :- 1087,

« 4, Option ID :- 1088, &2

Answer Given:- 4, Option ID : -1

Question ID:- 273 Q'O {
Many bronze sculptures from Uttar Pradesh and Bihar under Gupta Period represent the image of—
which god ?

(1) Mahavir H
(2) Buddha

(3) Siva

(4) Vishnu

T § 3T Yo 3R faer & wra wier ufamnd fog Saar 1 guid § 2

(1) W
2 9%
(@) fm=
(4 fom
Options:-

e

Pt
Yl

«1, Option ID :- 1089,



« 2, Option ID :- 1090,
« 3, Option ID :- 1091,

« 4, Option ID :- 1092,
Answer Given:- 2, Option ID : -1090

Question ID:- 274

Nalanda became the centre of Bronze Sculpture in which period ?
(1) Gupta period
Pala period

SER ]

(2)
(3) Chola period
(4)

iy

Kushan period

e wimiel & fod Trefe g e 8 %% 5 2

(1) T
(2) I =l
(3) = Fe
(4 T HS
Options:-

«1, Option ID :- 1093,
« 2, Option ID :- 1094,
« 3, Option ID :- 1095,

« 4, Option ID :- 1096,
Answer Given:- 1, Option ID : -1093

Question ID:- 275

What was the reason for thé abunidance of bronze sculptures in the chola period ?
(I) to install in sanctum centorum

(2) For temple festivals
(3) For sale
(4)

4)  For individual worshipping

HTeTehTe H e e i W T A RO R 2
(1) T1HRIE ¥ =ifrd & & o

2) HfeX 3cwel & ford

)

(

(3) = % fod

(4) 9¥%F TSN % fod
Options:-

«1, Option ID :- 1097,
« 2, Option ID :- 1098,
« 3, Option ID :- 1099,




= 4, Option ID :- 1100,
Answer Given:- 1, Option ID : -1097

Question ID:- 276

In 13th century large scale building activity began under :

(1) Rajput kings

2) Mughals

3) Delhi Sultanate
)

(
(
(4) Tughlaks

Aedt wet | = Yo § vae fmin wfafafy F Hala ge |
(1) Tsd i

(2 "

(3) Tewel HeaTd

(4) qels
Options:-

=1, Option ID :- 1101,
« 2, Option ID :- 1102,
« 3, Option ID :- 1103,

= 4, Option ID :- 1104,
Answer Given:- 4, Option ID : -1104

Question ID:- 277

Collection of Mother Goddess at :

(1) National Museum, New Delli
) State Museum, U.P.

) Sarnath Museum, Sarnath U.P.
) Mathura Museum, U.P.

R

(
(
(4

Options:-

«1, Option ID :- 1105,
= 2, Option ID :- 1106,
« 3, Option ID :- 1107,

« 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105




Question ID:- 278

The Kushana period seated Buddha from Katra Tila is in which of the following museum ?
(1) Mathura Museum, Uttar Pradesh

(2) Allahabad Museum, Uttar Pradesh

(3) National Museum, Delhi

(4) Bharat Kala Bhawan, Bhopal (M.P.)

TN A 2 A F WH g5 Hi gt g8 werdn Frefatad § 3 g gueem ¥ qrfim €2
(1) \YU GUEeTd, 3T 989

(2) SOARER HUSed, 3T Tl

(3) Uy duwer, fowe

(4) WA el 9o, 99 (AU

Options:-

«1, Option ID :- 1109,

= 2, Option ID :- 1110,

« 3, Option ID :- 1111,

« 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279




Telegram:tmefpgtprime

Identify the flower carved on the Asokan Pillar in the given picture :
‘Water lily
Sunflower

M
(3)
(4)

Lotus flower
Hibisc




o gy fam 9 owies W W | o Hifehd § 2

W FEH

(2 geemEt
(4) Tsed
Options:-

«1, Option ID :- 1113,
= 2, Option ID :- 1114,
« 3, Option ID :- 1115,

Telegram:tmefpgtprime




= 4, Option ID :- 1116,
Answer Given:- 3, Option ID : -1115

Question ID:- 280

For the base of Ajanta Painting which of the following ingredient is not used ?

(1) Sand

(2) Chalk

(3) Cement

(4) Fenugreek seeds

STl o Tl 1 90ae oaR 3 & fau 399 9 & | 9 TR §9H § 9gaEd T8l TRl T o 7

OEEL

(2 Gfem

(3) HiH=

(4) He-TA
Options:-

«1, Option ID :- 1117,
= 2, Option ID :- 1118,
« 3, Option ID :- 1119,

« 4, Option ID :- 1120,
Answer Given:- 3, Option ID : -1119

Question ID:- 281

Which of the following the Ajanta Painting “The Princess Die” is painted in which cave no ?
(1) <Cave No. -16

(2) Cave No.-17
(3) Cave No. - 01
(4) Cave No.-09

STST=1 o fohd T[T H& H Aai-TsrgHr = fafa & 2
(1) 7% &1 - 16

(2) T HEA - 17

(3) T HE&A - 01

(4) % H=A - 09
Options:-

«1, Option ID :- 1121,
=« 2, Option ID :- 1122,
« 3, Option ID :- 1123,

= 4, Option ID :- 1124,
Answer Given:- 4, Option ID : -1124




Question ID:- 282

Which of the following is subject matter of Ajanta ?
(1) Buddhist Religion

) Jain Religion

) Christian Religion

) Hindu Religion

SER ]

(
(
(4

o F esfumw i F o g 9 8 :

Options:-

«1, Option ID :- 1125,
« 2, Option ID :- 1126,
« 3, Option ID :- 1127,

= 4, Option ID :- 1128,
Answer Given:- 1, Option ID : -1125

e

Question ID:- 283

The Ajanta Painting “Dream of Maya” is painted in which cave no. ?
(1) Cave No.-2
) Cave No.-9
) Cave No. - 17
)

= 2

(
(
( Cave No. - 16
aret=1 o forg o e B e o e e fafe @2
(1) T g - 2
(2) W HESN -9
(3) T® HE&A - 17
(4) W HEA - 16

Options:-

«1, Option ID :- 1129,
« 2, Option ID :- 1130,
» 3, Option ID :- 1131,

= 4, Option ID :- 1132,
Answer Given:- 4, Option ID : -1132

TAII‘\N
rereg

Question ID:- 284




The material used in stupas during Shunga period :

(1) Clay

(2) Wood

(3) Cement

(4) Brick and Stone

v w1 | fafda wu fFreafafea § | 5 g & wEmgen 22

(1) e

(2) el

(3) wHH=

(4) IUHT TH TET
Options:-

=1, Option ID :- 1133,
« 2, Option ID :- 1134,
« 3, Option ID :- 1135,

« 4, Option ID :- 1136,
Answer Given:- 2, Option ID : -1134

Question ID:- 285

Shift from trabeate format to archeate format il censtruction was introduced in :
(I) Temple architecture
Cave architecture

ST ]

(
(
(

)
) Stupa architecture
)

4 Indo Islamic architecture

Options:-

«1, Option ID :- 1137,
= 2, Option ID :- 1138,
« 3, Option ID :- 1139,

= 4, Option ID :- 1140,
Answer Given:- 4, Option ID : -1140

Question ID:- 286




Trabeate format of architecture includes :
(1) bracket, Pillars lintel

(2) Arch, keystone, bricks

(3) Stone, brick, metal

(4) Concrete, bricks, stone

FRgEHE § Zfeue 9tk % Sfaia o ST 7
(1) e, Ty, folea

(2) R, ehfea geer, g2

(3) UeR, ¥, uig

(4) TRGhIS, 3T
Options:-

«1, Option ID :- 1141,
« 2, Option ID :- 1142,
« 3, Option ID :- 1143,

= 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287

How much is the height of Qutub Minar ?
(1) 100 feet

(2) 500 feet

(3) 432 feet

(4) 234 feet

Fgd HAR & @ R ¢ ?
(1) 100 HIiZ

(2) 500 HIE

(3) 432 WIE

(4) 234 ®IZ
Options:-

«1, Option ID :- 1145,
= 2, Option ID :- 1146,
« 3, Option ID :- 1147,

« 4, Option ID :- 1148,
Answer Given:- 2, Option ID : -1146

Question ID:- 288




Qutub Minar is also associated with :
(1) Qutubuddin Bakhtiar Kaki

) Qutubuddin Aibak

) Qutubuddin Aulia

) Qutubuddin Moeen

= I

(
(
(

Fqd HAR T WY off Fraferd ©
(1) FIIEH TGN HrH

) FIIEH TR

3)  FIIE e

4)  FIIEH A

Options:-

«1, Option ID :- 1149,
« 2, Option ID :- 1150,
« 3, Option ID :- 1151,

2

(
(
(

= 4, Option ID :- 1152,
Answer Given:- 2, Option ID : -1150

Question ID:- 289

Qutub Minar is a mix of shapes,
(1) Polygonal and circular

Circular and triangular

CEE ]

(
(
(

)
) Square and circle
)

iy

Triangular and square

Fgd HAR ———— 37 AR F G5 4§ 5 7
(1) Oifere SR e

(2) TErRR SR Bepria

(3) N, TR

(4) TR, SRR
Options:-

«1, Option ID :- 1153,
= 2, Option ID :- 1154,
« 3, Option ID :- 1155,

« 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153

Question ID:- 290




In ‘Padmapani Bodhisatva” mural painting from Ajanta the Buddha is holding a flower in the
Right hand is :

(1) Hibiscus
(2) Mari gold
(3) Rose

(4) Lotus

sroret % fufafes wegmion siftree & o § frefafes § 9 95 % @ a9 9 =9 9 fra qo =1 feam
TE?

(1) Teed
(2 T
(3) T
(4) A
Options:-

«1, Option ID :- 1157,
« 2, Option ID :- 1158,
« 3, Option ID :- 1159,

« 4, Option ID :- 1160,
Answer Given:- 4, Option ID : -1160

Question ID:- 291

rereg




Which world famous tomb is inspired by the tomb shown in the given picture ?

e

(2
3
@)

Bibi Ka Makbare
Taj Mahal

Humayan Tomb 0

Aitmanddaul Tomb Q

TI‘\II‘\“ L] “+
Fetegram:—tmefpat
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Options:-

«1, Option ID :- 1161,
« 2, Option ID :- 1162,
« 3, Option ID :- 1163,

« 4, Option ID :- 1164,
Answer Given:- 1, Option ID : -1161

e

TI‘\II‘\“ L] “+
Fetegram:—tmefpat

Question ID:- 292

Decoration of Qutub Minar consists of :
(1) Geometric shapes

(2) Lines

(3) Calligraphy & foliage

(4) Human figures




Fgd HAR W 1 Ffee H -——— "ifad 21

(1) o SR

(2 @i

(3) hetrmRr AR feqEr
(4) HFEEH
Options:-

=1, Option ID :- 1165,
« 2, Option ID :- 1166,
« 3, Option ID :- 1167,

« 4, Option ID :- 1168,
Answer Given:- 3, Option ID : -1167

Question ID:- 293

Calligraphy done with inlay of jasper in Marble are
(1)  Thistorical information

(2) Quranic verses
(3) Poetry

(4) biography of Noorjahan

HITHAT T SR 9 e Shefums B —————— g
(1) TfaeTas e

(2) T HT A

(3) Hfemmd

(4)  TISRI I St

Options:-

=1, Option ID :- 1169,
« 2, Option ID :- 1170,
« 3, Option ID :- 1171,

= 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

Gol Gumbaj is located at :
(1) Golkonda
Hyderabad

R N

(2)
(3) Bijapur
(4)

4 Ahmedna gar




(2) BeUEE
(3) TR
(4) SBHITR
Options:-

«1, Option ID :- 1173,
« 2, Option ID :- 1174,
« 3, Option ID :- 1175,

« 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295

Faxian came to India to gain knowledge of which religion ?

(1) Jaina

(2) Hindu
(3) Buddhist
(4) Christian

FifeaE YRd 9 99 &1 FF 91 FE 237 o1 2

Options:-
«1, Option ID :- 1177,

« 2, Option ID :- 1178,
« 3, Option ID :- 1179,

= 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

Which caves have the early painting of Ajanta ?
(1) Cave No. -16

) Cave No. - 09 and Cave No. - 10

) Cave No. - 17

) Cave No. - 01

SR

(
(
(

fry
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(1) %A 16
(2) T T S g THE

(3) a1 4. 17
{4) I[EFI 11
Options:-

«1, Option ID :- 1181,
« 2, Option ID :- 1182,
« 3, Option ID :- 1183,

« 4, Option ID :- 1184,
Answer Given:- 3, Option ID : -1183

Question ID:- 297

Identify the school of the painting represented in the photograph.

(1) Mughal School
(2) Pahari School

(3) Deccani School
(4) Rajasthani School

e
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() e el .
(2) ErES et @
(3) SRl Il N @

(4) TSR Sl QK\
Options:- &

«1, Option ID :- 1185, 0
» 2, Option ID :- 1186, Q

« 3, Option ID :- 1187,

=« 4, Option ID :- 1188,

Answer Given:- 1, Option ID : -1185

e

Pt
Yl

TI‘\II‘\“
rereg

Question ID:- 298

In the Deccni miniature painting titled “Chand Bibi playing Polo”, Who is Chand Bibi ?
(1) Queen of Golconda

(2) Queen of Ahmadnagar

(3) Queen of Bijapur

(4) Queen of Rajasthan




T wrgfea | it el Serdt =ie dtet fou1 § =i e #E § 2

(1)  TIThITS] i TH

(2) STEHETR T T

(3) TSI =T T

(4) USEAH I A
Options:-

=1, Option ID :- 1189,
« 2, Option ID :- 1190,
« 3, Option ID :- 1191,

« 4, Option ID :- 1192,
Answer Given:- 1, Option ID : -1189

Question ID:- 299

Mughal miniatures were mainly painted on :
(1) Palm leaf

(2) Animal skin (Leather)

(3) Silk cloth

(4)

Handmade paper

(1) drss

(2) W@

(3) Toesw =1 w9e

(4) BveHe YR (g% TAfHa Fris)
Options:-

=1, Option ID :- 1193,

= 2, Option ID :- 1194,
« 3, Option ID :- 1195,

= 4, Option ID :- 1196,
Answer Given:- 4, Option ID : -1196

Question ID:- 300

In the miniature painting which colour is obtained by Lapis Lazuli ?
(I) Red

) Golden yellow

)

)

SER ]

(
( Olive green
(

iy

Ultramarine
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(1) e

(2) T

(3) siifereniia

(4) STeTHE (i)
Options:-

«1, Option ID :- 1197,
« 2, Option ID :- 1198,
« 3, Option ID :- 1199,

« 4, Option ID :- 1200,
Answer Given:- 4, Option ID : -1200

Question ID:- 301

The Mughal miniature painting achieved naturalism and scientific accuracy of the highest degree (_
during the period of :

(1) Akbar

(2) Jahangir
(3) Babur

(4) Humayan

Toreen =h1a H TTel o7 Fosmn St & Fenedayeh S S uTa o1 7

(1) TehsiY
(2) SEMR
(3) TR
(4 T
Options:-

=1, Option ID :- 1201,
= 2, Option ID :- 1202,
« 3, Option ID :- 1203,

« 4, Option ID :- 1204,
Answer Given:- 2, Option ID : -1202

Question ID:- 302

Who painted the miniature painting from the Jahangir period titled “Falcon of the bird rest” ?
(1) Vasawan

) Mir. Saiyyad Ali

) Ustad Mansoor
)

= L 12

Manohar

(
(
(
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(1) =8"Ee

(2) HR HFEsdl
(3) IR HY
(4) HARY
Options:-

=1, Option ID :- 1205,
« 2, Option ID :- 1206,
=« 3, Option ID :- 1207,

« 4, Option ID :- 1208,
Answer Given:- 3, Option ID : -1207

Question ID:- 303

Biographies of kings was represented in the miniature paintings of :
(1) Rajput miniature

(2) Mughal miniature
(3) Pahadi miniature
(4)

4) Jain miniature

agﬁa‘fﬁwaﬁé;aﬁaa—ﬁ@ﬁmw%:
(1) TEE T

(2) T T

(3) wRrEt g

(4) > T

Options:-

=1, Option ID :- 1209,

« 2, Option ID :- 1210,
« 3, Option ID :- 1211,

= 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304

The miniature painting “Krishna lifting mount Govardhana” is painted by :
(1) Abdul Hasan

(2) Jaganath
(3) Miskin
(4) Haji Madni




T MiadE ged &l 33 41 F7 fFdeh g S 741 @ ?

(1) &9 &8

(2) SO

(3) Hfeg

(4) =TS AT
Options:-

=1, Option ID :- 1213,
« 2, Option ID :- 1214,
« 3, Option ID :- 1215,

« 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

The miniature painting workshop was divided among different artists specializing in foundation (
drawing, Background, Figure work, Portraiture and detail outline drawing :

Ic

(1) Rajasthani miniature

(2) Pahari miniature
(3) Deccaani miniature
(4) Mughal miniature

SRt @i, ygYih, o, safefamo o quf ey wEis agfas e § fafis e
Al o STHR 9T &1l T o
(1) TS ey =
(2) vt Tfm
(3) =T AEfEEm
(4) T T
Options:-
«1, Option ID :- 1217,
« 2, Option ID :- 1218,
« 3, Option ID :- 1219,

= 4, Option ID :- 1220,
Answer Given:- 4, Option ID : -1220

Question ID:- 306

Baswan was the court painter of which Mughal king ?

(1) Akbar

(2) Jahangir

(3) Shah Jahan
(4)

iy

Babar
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(1) SFFaT

(2) SRR
(3) wiEsEl
(4) @
Options:-

=1, Option ID :- 1221,
« 2, Option ID :- 1222,
« 3, Option ID :- 1223,

« 4, Option ID :- 1224,
Answer Given:- 2, Option ID : -1222

Question ID:- 307

In this given picture what is Krishna doing :

(1) Raas-Leela

(2) Kaliya Daman

(3) Lifting Govardhan Parwat
(4) Victory Celebration
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Options:-

«1, Option ID :- 1225,
» 2, Option ID :- 1226,
« 3, Option ID :- 1227,

= 4, Option ID :- 1228,
Answer Given:- 3, Option ID : -1227

e
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Ut
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Question ID:- 308

Bikaner style of miniature paintings have a strong influence of Mughal paintings because

()
(2)
(3)
(4)

Presence of Mughal court painters in Bikaner
Political relations with Mughals

Copied Mughal paintings

Mughal miniatures were present in Bikaner




SiehTR Yl ok o Fol § 5 Fesrehetl ol SIRGR YiE o, i
(1) iR 8 ga v faemn gg o

(2) HIE % WY TS TsHilaeE Hay 2
(3) el farEeet i Fahe i

(4) SRR H gTe oy fus Heg 9
Options:-

«1, Option ID :- 1229,
« 2, Option ID :- 1230,
« 3, Option ID :- 1231,

« 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309

Nuruddin was an artist from which place ?

(1) Jaipur

(2) Bikaner

(3) Bundi

(4) Kishangarh

(1) “EW

(2) @R

(3) o

(4) forwrETE
Options:-

=1, Option ID :- 1233,
« 2, Option ID :- 1234,
« 3, Option ID :- 1235,

= 4, Option ID :- 1236,
Answer Given:- 2, Option ID : -1234

Question ID:- 310

What is the painting techniques of Rajasthan miniature paintings ?
(1) Water colour

(2) Qil paintings
(3) Acrylic
(4) Tempera




e w7 FeseRan o foe it ale F e 2

(1) Sterd
(2) e
(3) Tfshfetsh
(4) T
Options:-

«1, Option ID :- 1237,
« 2, Option ID :- 1238,
« 3, Option ID :- 1239,

« 4, Option ID :- 1240,
Answer Given:- 4, Option ID : -1240

Question ID:- 311

“Maru Ragini” painting in the collection of National Museum, New Delhi is from which school of (_
Rajasthani miniature painting ?

(1) Bikaner

(2) Jaipur

(3) Mewar

(4) Kishangarh

TP Hee foeett &% Tug § 7 Ui o frgareEerht o faeen St 3 72

(1) =T
(2) “EE
(3) WETE
(4 TrerTg
Options:-

=1, Option ID :- 1241,
= 2, Option ID :- 1242,
« 3, Option ID :- 1243,

« 4, Option ID :- 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Who was the painter of most famous Rajasthan miniature painting “Bani thani” ?
(1) Nuruddin

) Sahibuddin

) Nihal chand
)

= L 12

(
(
( Utkal Ram
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(1) TESE

2) HifgagaH

)

(

(3) TreremET
(4) 3okl TH
Options:-

«1, Option ID :- 1245,
« 2, Option ID :- 1246,
=« 3, Option ID :- 1247,

« 4, Option ID :- 1248,
Answer Given:- 3, Option ID : -1247

Question ID:- 313

“Chaugan Players” painting, painted by Daana is from which school of Rajasthan miniature (_
paintings ?

(1) Jodhpur

(2) Mewar
(3) Jaipur
(4) Bundi

(1) SR
(2) FTS
(3) AR
(4) &
Options:-

=1, Option ID :- 1249,
= 2, Option ID :- 1250,
« 3, Option ID :- 1251,

« 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314
“Ram-Bharat Milap” painting from Jaipur school of Rajasthani miniature painting” is painted by
whom ?
(1) Daana
(2) Guman
(3) Sahib Ram
(4)

4 Bhawani Das
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(1) =

(2) T

(3) HifgsH

(4) WAl g™
Options:-

«1, Option ID :- 1253,
« 2, Option ID :- 1254,
« 3, Option ID :- 1255,

« 4, Option ID :- 1256,
Answer Given:- 3, Option ID : -1255

Question ID:- 315

Kota style of Rajasthani miniature painting achieved expertise in painting in what subjects ?
(1) Portrait

) Mythical stories

) Raj Ragini
)

S e ]

(
(
(4

Baramasa

Ty w1y Fesreren Sieft & e et § g faw, 2 e o faftwm efge =5 22
(1) =t

(2) it
(3) T

(4) IR
Options:-

«1, Option ID :- 1257,
« 2, Option ID :- 1258,
« 3, Option ID :- 1259,

= 4, Option ID :- 1260,
Answer Given:- 1, Option ID : -1257

Question ID:- 316

Name the king whose portraits are found in Kishangarh paintings.
(I) Raja Jai Singh

(2) Raja Madho Singh
(3) Raja Sawai Singh
(4

Raja Sawant Singh
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(1) rsn 54 fdz

(2) e HiE R

(3) s e fHe

(4) T HrEd fH

Options:-

=1, Option ID :- 1261,

= 2, Option ID :- 1262,

« 3, Option ID :- 1263,

=« 4, Option ID :- 1264,
Answer Given:- 4, Option ID : -1264

Question ID:- 317

In painting “Ram-Bharat Milap” by Guman from Jaipur consists of how many human figures ?
(1) More than 50

) Less than 20

)

)

S e ]

More than 40

(
(
( Less than 40

o

T 51 T s Stelt @ fom - s frer L St aearstaar €2
(1) T=H 9 =

(2) @9 HFH

(3) = ¥ @

(4) =THIA H HH
Options:-

=1, Option ID :- 1265,
« 2, Option ID :- 1266,
« 3, Option ID :- 1267,

= 4, Option ID :- 1268,
Answer Given:- 4, Option ID : -1268

(

1c

Question ID:- 318

“Rasamanjuri” painting from Basohli style of Pahari miniature painting is influenced by
)  Mughal miniature painting

) Deccani miniature painting

) Ajanta Murals

) Early Western Indian miniature paintings

(1
(2
(3
(

4
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(1) T e

(2) eRhAT g

(3)  sisfar fufa f==

(4) YRfrveE gfves YRdE ey

Options:-

«1, Option ID :- 1269,
= 2, Option ID :- 1270,
« 3, Option ID :- 1271,

« 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269

Question ID:- 319

Wash painting style in Bengal painting school is influenced from
(1) Indian miniatures

Iranian paintings

S e ]

(
(
(

)
) Japanese paintings
)

4) Chinese paintings

e a3 Sl § oty fomo @l § genfem &2
(1) ey e

(2) 3y e

(3) S fer

(4) =
Options:-

=1, Option ID :- 1273,

= 2, Option ID :- 1274,
« 3, Option ID :- 1275,

= 4, Option ID :- 1276,
Answer Given:- 3, Option ID : -1275

Question ID:- 320

Krishna Reddy has worked in which medium ?
(1) Water colour

(2) Oil colour

(3) Wood cut print

(4) Etching




Fo Teet J g memg § e1vd i 9y € 2

(1) e
(2) AR
(3) de%e fe
(4) T
Options:-

=1, Option ID :- 1277,
= 2, Option ID :- 1278,
« 3, Option ID :- 1279,

=« 4, Option ID :- 1280,
Answer Given:- 4, Option ID : -1280

Question ID:- 321

Who was the Indian sculptor who represented the tribul life, of his own tribe ?
(1) Somnath Hore

) D.P. Roy Chowdhary

) Prodosh Das Gupta

) Ramkinker Baij

S e ]

(
(
(4

3 P Y T AR R o e § e e w1 el e 32

(1) T e

(2) ELULTE e

(3) WM™ & T

(4) W fohet oS
Options:-

=1, Option ID :- 1281,

= 2, Option ID :- 1282,
=« 3, Option ID :- 1283,

= 4, Option ID :- 1284,
Answer Given:- 4, Option ID : -1284

Question ID:- 322

Which of the following printmaking technique used by Raja Ravi Verma popularised mythological

theme ?

(1) Wood cut
(2) Oleograph
(3) Serigraphy
(4)

4 Linocut




Tt Tfa T drfores swenedl o st fes w1 sR-eR dgEr o fay 399 9 Ty o1aeken & qere & wEn
fopan ?

(1) 98 &<

(2) sAfeETITE

(3) HiuTH

(4) forrere
Options:-

«1, Option ID :- 1285,
« 2, Option ID :- 1286,
« 3, Option ID :- 1287,

« 4, Option ID :- 1288,
Answer Given:- 2, Option ID : -1286

Question ID:- 323

The sculpture ‘Triumph of labour’ by Devi Prasad Roy Choudhury is in collection of :
(1) National Gallery of Moder Art, Delhi

(2) National Museum, Delhi

(3) President House, Delhi

(4) Parliament, Delhi

<t gae T =l gr ey g w6 fasm’ gid fefatea § 9 e wofea g7
(1) B sy wen Haeed, feee,

(2) TP GuReE, feet
(3) WEF e, feeed
(4) HHg v, Tl
Options:-

=1, Option ID :- 1289,
= 2, Option ID :- 1290,
« 3, Option ID :- 1291,

« 4, Option ID :- 1292,
Answer Given:- 2, Option ID : -1290

Question ID:- 324

Which of the following is last process in technique of wash painting ?
(1) Burnishing

)  Mixing of colour
) Tint

) Varnishing

= L 12

(
(
(
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(1) R FE
(2) T fagm
(3) fere @
(4) @rHw @
Options:-

=1, Option ID :- 1293,
« 2, Option ID :- 1294,
= 3, Option ID :- 1295,

« 4, Option ID :- 1296,
Answer Given:- 3, Option ID : -1295

Question ID:- 325

What was all paintings subject matter of Haripura session are made by Nand lal Bose ?
(1) Daily life

(2) Story
(3) Mythical story
(4) Poetry

Teare 9 g A ity sifeeem o weft fosii =6l fomd 58 9 =F = 412

(1) TeT==i

(2) HEH

(3) Rt Fen

(4)  eRfedr
Options:-

=1, Option ID :- 1297,
« 2, Option ID :- 1298,
= 3, Option ID :- 1299,

« 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297

Question ID:- 326

Which of the following Indian female painter was born in Hungry country ?
(1) Arpana Kaur

2) Anupam Sood

3) Amrita Shergil
)

(
(
(4) Era Choudhuri




Frafafaa § & #F v Afea R &1 571 78 o0 § gan o412
(1)  37dum =R

(2) 999 92

(3)  STgaAmRfiTe

(4) s EEd
Options:-

«1, Option ID :- 1301,
« 2, Option ID :- 1302,
=« 3, Option ID :- 1303,

« 4, Option ID :- 1304,
Answer Given:- 3, Option ID : -1303

Question ID:- 327

Which student of Abanindranath Tagore has painted painting ‘Parthasarthi” ?
(1) Nand lal Bose

) Asit Kumar Haldar

) Shailendra nath Dey

)  Kshitindra nath Mazumdar

S e ]

(
(
(4

FFATEAY <R & Ty faendt g fom medareh fafEa o = o1 ?

(2) 3T FHR Besl

(3) VergTEE

(4) ez 7eHER
Options:-

=1, Option ID :- 1305,
« 2, Option ID :- 1306,
« 3, Option ID :- 1307,

=« 4, Option ID :- 1308,
Answer Given:- 1, Option ID : -1305

Question ID:- 328

Which of the following technique is in painting “Three Girls" by Amrita Shergil ?
(I) Tempara

) Acrylic
) Oil
)

Water color

SER ]

(
(
(

iy




sToanR T g fatm fa o el &1 mem freafafaa § #R 82

(1) =¥

(2) Thfds

(3) dd

(4) ST
Options:-

«1, Option ID :- 1309,
= 2, Option ID :- 1310,
« 3, Option ID :- 1311,

« 4, Option ID :- 1312,
Answer Given:- 3, Option ID : -1311

Question ID:- 329

Which of the following technique is used/applied in sculpture ‘Santhal Family’ by Ramkinkar (_
Vaij ?
(1) Terrecotta

(2) Concrete
(3) Bronze
(4) Wood

Frafafes § 9 19 foEs gro-fia foes dam-giar &1 meay =41 & ?

(1) 2THET
(2) HFLIE
(3)
(4) THS
Options:-

=1, Option ID :- 1313,
= 2, Option ID :- 1314,
« 3, Option ID :- 1315,

« 4, Option ID :- 1316,
Answer Given:- 3, Option ID : -1315

Question ID:- 330

Which of the following painted the Haripura session of Indian national congress of all exhibit
painting ?

(1) Abanindranath Tagore

(2) Gaganendranath Tagore

(3) Nand lal Bose
(4)

4) Rabindranath Tagore
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(1) 3Ta= 1 2R

(2) TR A 2R

(3) Taed &

(4) TETETY TR
Options:-

=1, Option ID :- 1317,
= 2, Option ID :- 1318,
« 3, Option ID :- 1319,

« 4, Option ID :- 1320,
Answer Given:- 1, Option ID : -1317

Question ID:- 331

Which is the colour of Jyotirlinga in the “Untitled painting” by Indian painter Gulam Rasul Santosh ? (_

(1) Black
(2) White
(3) Green
(4) Red

{
Options:- (
=1, Option ID :- 1321, _(
= 2, Option ID :- 1322, I'
« 3, Option ID :- 1323,

= 4, Option ID :- 1324,
Answer Given:- 4, Option ID : -1324

Question ID:- 332

What is the technique of print ‘Children” by Somnath Hore ?
(1) Serigraph

) Etching and Aquavatint

) Lithograph

) Intaglio

= I

(
(
(

rereg
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(1) Fs

(2) ufeE T uFafe

(3) fagnms

(4) Eerfern
Options:-

«1, Option ID :- 1325,
= 2, Option ID :- 1326,
« 3, Option ID :- 1327,

« 4, Option ID :- 1328,
Answer Given:- 1, Option ID : -1325

Question ID:- 333

Which of the following is not part of Elements of Art ?

(1) Line

(2) Tane

(3) Painting
(4) Texture

Trafafag ° 9 [ e & a6 &1 Y7 T8l © 2

(1) @
(2) @™
(3) TemreRen
(4)
Options:-

=1, Option ID :- 1329,

« 2, Option ID :- 1330,
= 3, Option ID :- 1331,

= 4, Option ID :- 1332,
Answer Given:- 3, Option ID : -1331

Question ID:- 334

Which of the following is not colour part of warm colour group ?
(1) Lemon Yellow

(2) Red
(3) Blue
(4) Orange




Frafafas § F =F i i gge & ferm =8 § 2

(2) oA

(3) e

(4) AR
Options:-

«1, Option ID :- 1333,
« 2, Option ID :- 1334,
« 3, Option ID :- 1335,

« 4, Option ID :- 1336,
Answer Given:- 3, Option ID : -1335

Question ID:- 335

Spaceisa:

(1) Area

(2) Line

(3) Texture

(4) Light and Shade

A TF ©
(1) &=

(2)

(3) UM

(4) BT
Options:-

=1, Option ID :- 1337,
« 2, Option ID :- 1338,
« 3, Option ID :- 1339,

« 4, Option ID :- 1340,
Answer Given:- 1, Option ID : -1337

Question ID:- 336

Which of the following is not part of geometrical shape ?
(1) Square

) Circle
) Triangle
)

Glass of water

2. N

(
(
(4
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(1) =

(2 9
(3) Ty
(4) Ul TAH
Options:-

=1, Option ID :- 1341,
= 2, Option ID :- 1342,
=« 3, Option ID :- 1343,

« 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337

Which of the following is more hard pencil ?

() H

(2) 2B
(3) 4B
(4) 8B

Trafafag § 9 =9 o gaifas Fer 26 872

() ==
(2) 2 =,
(3) 4 .
(4) 8 .
Options:-

=1, Option ID :- 1345,

« 2, Option ID :- 1346,
« 3, Option ID :- 1347,

« 4, Option ID :- 1348,
Answer Given:- 1, Option ID : -1345

Question ID:- 338

Which of the following is not used in technique of oil painting ?
(1) Linseed oil

(2) Hog hair brush
(3) Dry pastel

(4

Turpentine oil
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(1) @ =1 o=

(2) SR FTe arelt gierert

(3) TER-URA

(4) AR T ded
Options:-

«1, Option ID :- 1349,
« 2, Option ID :- 1350,
« 3, Option ID :- 1351,

« 4, Option ID :- 1352,
Answer Given:- 3, Option ID : -1351

Question ID:- 339

Black and White are called colours.
(1) Primary colours

Seconday colours

(2)
(3) Tertiary colours
(4)

Neutral colours

HTeT X Fhe T FEA &
(1)  wrfes @

(2) fed=m

(3) g E

(4) EEE
Options:-

=1, Option ID :- 1353,

« 2, Option ID :- 1354,
« 3, Option ID :- 1355,

« 4, Option ID :- 1356,
Answer Given:- 4, Option ID : -1356

Question ID:- 340

Cube, prism and cylinder are geometric
(1) Shapes

Human form

SER ]

(2)
(3) Form
(4)

Line

iy
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(1) SR

(2) HFETRT
(3) ®4
(4) T
Options:-

«1, Option ID :- 1357,
« 2, Option ID :- 1358,
« 3, Option ID :- 1359,

=« 4, Option ID :- 1360,
Answer Given:- 3, Option ID : -1359

Question ID:- 341

Sahibdin is an artist of which Rajasthani style of painting ?

(1) Basohli
(2) Mewar
(3) Bundi
(4) Jaipur
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(1) =

(2 WIE

(3) e

(4) AR
Options:-

=1, Option ID :- 1361,

= 2, Option ID :- 1362,
« 3, Option ID :- 1363,

« 4, Option ID :- 1364,
Answer Given:- 2, Option ID : -1362

Question ID:- 342

Who among the following is not the Rajasthani School painter ?

(1) Mansur
(2) Sahibdin
(3) Nuruddin
(4) Dana




Frafafas § 9 $F gorr ot % e @i e ?

(1) "¢

(2) wfgse

(3) TeaH

(4) <
Options:-

«1, Option ID :- 1365,
« 2, Option ID :- 1366,
« 3, Option ID :- 1367,

« 4, Option ID :- 1368,
Answer Given:- 1, Option ID : -1365

Question ID:- 343

Chaugan player painting is a representing princess playing which game ?
(1) Horse Race

(2) Polo
(3) Hunting
(4) Hockey

S el winde fomt & Torpeial S o e Ee w82

(1) =g e
(2) e
(3) f=r
(4) Bt
Options:-

=1, Option ID :- 1369,

« 2, Option ID :- 1370,
« 3, Option ID :- 1371,

« 4, Option ID :- 1372,
Answer Given:- 1, Option ID : -1369

Question ID:- 344

Name the temple architecture style created through the selective mixing of the Nagara and Dravida
orders.

(1) Bhumija
(2) Deul

(3) Vesara
(4) Sandhara
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(1) fesT
(2) oFd
(3) dW
(4 TR
Options:-

«1, Option ID :- 1373,
= 2, Option ID :- 1374,
« 3, Option ID :- 1375,

« 4, Option ID :- 1376,
Answer Given:- 1, Option ID : -1373

Question ID:- 345

The study of images of deities falls within a branch of art history is called :
(1) Epigraphy
Iconography

S e ]

(
(
(

)
) Neumismatic
)

4) Statuary
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(1) foemer semzm

(2) Wi @ foen

(3) HAl A=

(4) T foem
Options:-

«1, Option ID :- 1377,
« 2, Option ID :- 1378,
« 3, Option ID :- 1379,

=« 4, Option ID :- 1380,
Answer Given:- 1, Option ID : -1377

Question ID:- 346




Identify the style of temple architecture.

(1) Nagara
(2) Vesara
(3) Dravida
(4) Bhumija
o1 =1 SR wier wmaed Sl i wE=
(1) =R
(2) o
(3) =z
(4) s
Options:-

=1, Option ID :- 1381,
= 2, Option ID :- 1382,
« 3, Option ID :- 1383,

= 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

Question ID:- 347




In the Tutinama manuscript paintings are related to :

(1) Tipu Sultan
(2) Parrot

(3) Tortoise

(4) Elephant

et e feem 5 | foereg gafaa © 2

(2)
(3) =3I
(4) red
Options:-

«1, Option ID :- 1385,
« 2, Option ID :- 1386,
=« 3, Option ID :- 1387,

=« 4, Option ID :- 1388,
Answer Given:- 1, Option ID : -1385

Question ID:- 348

The nature of lapis lazuli colour is :

(1) Red
(2) White
(3) Green
(4) Blue

(1) e
(2) H®E
(3) @1
(4) ren

Options:-

«1, Option ID :- 1389,
= 2, Option ID :- 1390,
« 3, Option ID :- 1391,

» 4, Option ID :- 1392,
Answer Given:- 2, Option ID : -1390

Question ID:- 349




Which of these caves is situated on the bank of Baghora river ?
(1) Elephant cave

(2) Ellora cave
(3) Ajanta cave
(4) Lomashrishi cave
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(1) TEA®=T TEH

(2) e

(3)  SAST=I T

(4) EAHTERY T
Options:-

«1, Option ID :- 1393,
« 2, Option ID :- 1394,
« 3, Option ID :- 1395,

=« 4, Option ID :- 1396,
Answer Given:- 1, Option ID : -1393

Question ID:- 350

What type of house is cave no. 9 at Ajanta ?
(1) Chaitya

(2) Meeting Room
(3) Vihara
(4) Porch

TST=1 i TR HE& 9 R TR A R E 2

(1) =
(2) St
(3) fam
(4) ANHE
Options:-

«1, Option ID :- 1397,
= 2, Option ID :- 1398,
« 3, Option ID :- 1399,

= 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351
=
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(1) =
(2) i
(3) e
(4) H%e
Options:-

=1, Option ID :- 1401,
« 2, Option ID :- 1402,
=« 3, Option ID :- 1403,

« 4, Option ID :- 1404,
Answer Given:- 4, Option ID : -1404

Question ID:- 352

Which of the following was not a medium of Raja Ravi Varma ?
(I) Oleograph

(2) Water colour
(3) Fresco
(4) Oil painting

Tr=afarfaa § & o g ani &1 v weay T8 oan

(1) shfasurs

(2) S

(3) I

(4) et
Options:-

«1, Option ID :- 1405,
= 2, Option ID :- 1406,
« 3, Option ID :- 1407,

« 4, Option ID :- 1408,
Answer Given:- 2, Option ID : -1406

Question ID:- 353

Which of the following painting of Abanindranath Tagore was published in ‘Bengal magazine’
Pravas ?

(1) Nasim Bagh

(2) Bawl Song

(3) Journey’s End
(4) Ashoka’s Queen
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(1) A Ham

(2) SIS

(3) A =l A<

(4) oIk &I T
Options:-
«1, Option ID :- 1409,
« 2, Option ID :- 1410,
« 3, Option ID :- 1411,

« 4, Option ID :- 1412,
Answer Given:- 3, Option ID : -1411

Question ID:- 354

The Indus Valley Civilization has been assigned the period 2500-1800 BC on the basis of :
(1) Mystical insight by archeologists
Marking on seals

S e ]

(
(
(4

)
) Radio carbon dating
) Travellers written accounts

Tl e =1 FIa 2500-1800 .9, Tl STHR &4
(1) "dcEtag =i sneAcd® J6

(2) Hevfa=s

(3) Ifed wE-sfen

(4) AT A
Options:-

=1, Option ID :- 1413,
= 2, Option ID :- 1414,
= 3, Option ID :- 1415,

= 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355

The River Indus originates from :
(1) Afghanistan

(2) Pakistan

(3) India

(4
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(1)  STHITET

(2) ifeREH

(3) 9Rd

(4) fefsera
Options:-

«1, Option ID :- 1417,
« 2, Option ID :- 1418,
« 3, Option ID :- 1419,

« 4, Option ID :- 1420,
Answer Given:- 1, Option ID : -1417

Question ID:- 356

The remains of which art form was not found at the various sites of the Indus Valley (_
Civilization ?

(1) Sculptures
(2) Paintings
(3) Jewellery
(4) Pottery

Ty =@t v § Frefafea § | 29 o e o, s@e 1 e ?

Options:-

=1, Option ID :- 1421,
« 2, Option ID :- 1422,
« 3, Option ID :- 1423,

« 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

The brushes used for creating the miniature paintings were made with :
(1)  Squirrel Hair

(2) Horse Hair
(3) Buffalo Hair
(4) Sheep Hair
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(1) Tireredt % &

(2) IS A

(3) ¥® F A

@ gFam
Options:-

«1, Option ID :- 1425,
« 2, Option ID :- 1426,
« 3, Option ID :- 1427,

« 4, Option ID :- 1428,
Answer Given:- 1, Option ID : -1425

Question ID:- 358

Mughal miniature painting started declining during the rule of :
(1) Jahangir
Aurangzeb

S e ]

o

(2)
(3) Shah Jahan
(4) Akbar

Torm oEe % FEEE H ga-arg s et $1 I asiy

(1) SRR
(2) TS
(3) TMESE
(4) TFA
Options:-

=1, Option ID :- 1429,
« 2, Option ID :- 1430,
« 3, Option ID :- 1431,

« 4, Option ID :- 1432,
Answer Given:- 2, Option ID : -1430

Question ID:- 359




Following painting was included in whose biography ?

ey
@
3)
(4)

Jahangir =
Shahjahan @

Akbar ¢ &
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Tetegram—t-mefpgtprime




(2 sl
(3) oTFR
(4) @R
Options:-

«1, Option ID
» 2, Option ID
=« 3, Option ID

»« 4, Option ID
Answer Given

- 1433,

- 1434,
- 1435,
1= 1436,

Q
<&
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:- 3, Option ID : -1435

Tetegram—t-mefpgtprime

Question ID:-

360




The following work of art is an

(1) Etching

(2) Lithograph
(3) Drawihg
(4) Serigraph
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(1) e
2) Tasdoms
(3) zrEm
(4) THuTH
Options:-

«1, Option ID :- 1437,
« 2, Option ID :- 1438,
« 3, Option ID :- 1439,

« 4, Option ID :- 1440,
Answer Given:- 1, Option ID : -1437
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